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I. VOCABULARY

1. Martha Graham, ________ of the pioneers of modern dance, didn’t begin dancing until she was 21.

A. who, as one





B. she was

C. one






D. was one

2. Tiger moths __________ wings marked with stripes or sports.

A. have





B. with

C. their






D. whose

3. Platinum is harder than copper and is almost as pliable ___________.

A. gold





B. than gold

C. as gold





D. gold is

4. Most of Annie Jump Cannon’s career as an astronomer involved the observation, classification, and __________.

A. she analyzed stars




B. the stars’ analysis

C. stars were analyzed




D. analysis of stars
5. Many communities are dependent on groundwater _________ from wells for their water supply.

A. that obtained




B. obtained 

C. is obtained





D. obtain it

6. _________ experimental studies of the aging process, psychologist Ross McFarland determined that people could work productively much longer than had previously been thought.

A. In that





B. Through

C. Since





D. Into

7. _________ often raise funds from the sale of stock.

A. For corporations to operate


B. The operations of corporations

C. Corporations operate by



D. To operate, corporations
8. While all birds are alike in that they have feathers and lay eggs, ________ great differences among them in terms of size, structure, and color.

A. there are





B. but are

C. if there are





D. to be

9. There were _________ federal laws regulating mining practices until 1872.

A. none





B. not

C. no






D. nor

10. The Masters, one of the most important of all golf tournaments, ________ every year in Augusta, Georgia.

A. has held





B. being held

C. is held 





D. holding

11. Not only ________ places of beauty, they serve scientific and educational purposes as well.

A. are botanical gardens



B. botanical gardens to be

C. botanical gardens are



D. to be botanical gardens

12. _______ quicksand can be found all over the world, little was known about its composition until recently.

A. except





B. Although
C. Even





D. Despite

13. In 1791, Quebec was divided into two sections, Upper Canada and Lower Canada, _______ were ruled by elected assembles.

A. they both





B. both of them

C. in which both




D. both of which

14. _______ are a form of carbon has been known since the late eighteenth century.

A. Diamonds





B. Because diamonds

C. That diamonds




D. Diamonds, which

15. Designed by Frederic Auguste Batholde, __________.

A. the United States was given the Statue of Liberty by the people of France

B. the people of France  gave the Statue of Liberty to the United States

C. the Statue of Liberty was given to the United States by the people of France

D. the French people presented the United States with a gift, the Statue of Liberty

16. In the United States, ________ is generally the responsibility of municipal governments.

A. for water treatment




B. water treatment

C. where water treatment



D. in which water treatment

17. Crop rotation ________ of preserving soil fertility.

A. it is one method




B. one method

C. a method is one




D. is one method
18. _________ the dollar as its monetary unit in 1878.

A. Canada adopted




B. Adopted by Canada

C. It was adopted by Canada



D. The Canadian adoption

19. _________ almost impossible to capture the beauty of the aurora borealis in photographs.

A. Being





B. It is

C. There is





D. Is

20. Usually political cartoons ________ on the editorial page of a newspaper.

A. appear





B. whose appearance

C. by appearing




D. when they appearance

21. ________ two major art museums, the Fog and the Sadler.

A. Harvard University has



B. At Harvard University


C. Harvard University, with its


D. There at Harvard University

22. American actress and director Margaret Webster ________ for her production of Shakespearean plays.

A. who became famous



B. famous as she became

C. becoming famous




D. became famous
23. _______ gas tanks connected to welding equipment, one full of oxygen and the other full of acetylene.

A. It is two





B. Of the two

C. There are two




D. Two

24. _______ is the most interested in rhythm than in melody is apparent from his compositions.

A. That Philip Glass




B. Philip Glass, who

C. Philip Glass




D. Because Philip Glass

25. Compressed air _________ the power to drive pneumatic tools.

A. by providing




B. provides

C. that provides




D. the provision of

26. _________ by cosmic rays.

A. The Earth is constantly bombarded

B. Bombarded constantly, the Earth

C. Bombarding the Earth constantly

          D. The Earth’s constant bombardment

27. ________ primary colors are red, blue, and yellow.

A. There are three




B. The three

C. Three of them




D. That the three

28. ________ who was elected the first woman mayor of Chicago in 1979.

A. It was Jane Byrne




B. Jane Byrne

C. That Jane Byrne




D. When Jane Byrne

29. Every computer consists of a number of systems _______ together.

A. by working





B. work

C. they work





D. that work

30. On the Moon, _________ air because the Moon’s gravitational field is too weak to retain an atmosphere.

A. there is no





B. where no

C. no






D. is no

31. The Glass Mountains of northwestern Oklahoma _________ with flecks of gypsum, which shine in the sunlight.

A. they are covered




B. covered them

C. that are covered




D. are covered
32. In some cases, __________ to decide if an organism is a plant or an animal.

A. difficult if





B. it is difficult

C. the difficulty




D. is difficult

33. The first American novelist to have a major impact on world literature ________.

A. who was James Fenimore Cooper


B. James Fenimore Cooper was

C. it was James Fenimore Cooper


D. was James Fenimore Cooper

34. ________ important railroad tunnel in the United States was cut through the Hoosac Mountains in Massachusetts.

A. At first





B. It was the first

C. The first





D. As the first of

35. Generally, _________ in the valleys and foothills of the Pacific Coast ranges.

A. the California






B. the growth of  the California poppy.

C. the California poppy grows

D. growing the California  poppy

36. When bats are at rest, __________ hang upside-down.

A. they






B. and

C. to






D. as

37. ________ that the capital of South Carolina was moved from Charleston to Columbia.

A. In 1790 was




B. There was in 1790

C. In 1790





D. It was in 1790

38. Although not as important as they once were, ______ a major form of transportation in North America.

A. there are still railroads



B. railroads, which are still

C. railroads are still 




D. railroads still being

39. The Loop, which is the commercial heart of Chicago, _________ within a rectangular loop of elevated train tracks.

A. that is enclosed




B. enclosing it

C. is enclosed





D. it is enclosed

40. __________ amino acids that serve as the basic building blocks of all proteins

A. It was about twenty



B. For about twenty of

C. About twenty are




D. There are about twenty

41. Most folk songs are ballads _________ have simple words and tell simple stories.

A. what





B. although

C. when





D. that

42. After its introduction in 1969, the float process ________ the world’s principal method of manufacturing flat sheets of glass.

A. by which it became



B. it became

C. became





D. which became

43. In 1850, Yale University established Sheffield Scientific School, _________.

A. engineers were educated there


B. where engineers were educated

C. in which were engineers were educated

D. where were engineers educated

44. Many of Louise Nevelson’s sculptures consisted of a number of large wooden structures _______ in complex patterns.

A. which she arranged




B. she arranged them

C. which arranged 




D. arranged them

45. In addition to being a naturalist, Stewart E. White was a writer _______ the struggle for survival on the American frontier.

A. whose novels describe 



B. his describes in his novels

C. his novels describe




D. who, describing in his novels

46.  Diamonds are often found in rock formations called pipes, ________ the throats of extinct volcanoes.

A. in which they resemble



B. which resemble

C. there is a resemblance to



D. they resemble

47. William Samuel Johnson, _________ helped write the Constitution, became the first president of Columbia College in 1787.

A. whom he had 




B. and he had

C. who had





D. had

48. Seals appear clumsy on the land, _________ are able to move short distance faster than most people can run.

A. but they 





B. which they

C. they






D. which

49. The instrument panel of a light airplane has at least a dozen instruments ________.

A. the pilot must watch



B. what the pilot must watch

C. which the pilot must watch them


D. which most

50. A keystone species is a species of plants or animals ________ absence has a major effect on an ecological system.

A. that its





B. its

C. whose





D. with its

51. The size and shape of a nail depends primarily on the function _______ intended.

A. which it is





B. for which it is

C. which it is for




D. for which is

52. In geometry, a tangent is a straight line _________ a curve at only one point.

A. it touches





B. whose touching

C. which it is for




D. for which is

53. It was the ragtime pianist Scott Joplin _________ the Maple Leaf Rag, perhaps the best known of all ragtime tunes.

A. wrote





B. the writer of

C. who wrote





D. writing

54. There are over 2,000 varieties of snakes, _________ are harmless to humans.

A. mostly they





B. most of them

C. most of which




D. which most

55. Smokejumpers are _________ descend into remote areas by parachute to fight forest fires.

A. firefighters





B. when firefighters

C. who, as firefighters




D. firefighters who

56. Aerodynamics is the study of the forces ________ on an object as it moves through the atmosphere.
A. acting





B. act

C. are acting





D. acted

57. ________ for their strong fiber include flax and hemp.

A. Plants are grown




B. Plants grown
C. Plants that grow




D. To grow plants

58. _______, Jose Limon’s dance troupe often toured abroad.

A. The U.S. State Department sponsored it.

B. Sponsored by the U.S. State Department

C. The U.S. State Department, which sponsored it

D. The sponsorship of the U.S. State Department

59. Elfreth’s Alley in Philadelphia is the oldest residential street in the United States, with _________ from 1728.

A. houses are dated




B. the dates of the houses

C. the dating of houses



D. houses dating

60. In 1821, the city of Indianapolis, Indiana, was laid out in a design ________ after that of Washington, D.C.

A. patterned





B. was patterned

C. a pattern





D. that patterned

61. ________ team sports require cooperation.

A. Of all





B. They are all

C. All






D. Why are all

62. A medical emergency is a sudden or unexpected condition ________ immediate care to prevent death or serious harm.

A. it requires





B. to require

C. that requires 




D. a requirement of

63. Centuries of erosion have exposed _________ rock surfaces in the Painted Desert of northern Arizona.

A. in colors of the rainbow



B. colored like a rainbow

C. rainbow-colored




D. a rainbow’s coloring

64. The higher the temperature of a molecule, ________.

A. the more energy it has



B. than it has more energy

C. more energy has it




D. it has more energy

65. Frontier surgeon Ephraim MacDonald had to perform operations ______ anesthesia.

A. no






B. not having

C. without





D. there wasn’t

66. ________ young, chimpanzees are easily trained.

A. When are





B. When

C. They are





D. When they

67. A person of _________ age may suffer from defects of vision.

A. every





B. any

C. certain





D. some

68. ________ have settled, one of their first concerns has been to locate an adequate water supply.

A. Wherever people 




B. There are people who

C. Whether people 




D. People

69. If a bar magnet is _________, the two pieces form two complete magnets, each with a north and south pole.

A. broken





B. broke

C. breaking





D. break

70. The type of plant and animal life living in and around a pond depends on the soil of location. 

A. what the quality of the water is


B. how is the water quality

C. the quality of the water



D. what is the water quality

71. Clifford Holland, ________ civil engineer, was in charge of the construction of the first tunnel under the Hudson River.

A. he was a





B. a

C. being a





D. who was, as a

72. _________ parrots are native to tropical regions is untrue.

A. That all





B. All

C. Why all





D. Since all

73. A major concern among archaeologists today is the preservation of archaeological sites, _____ are threatened by development.

A. of which many




B. many of them

C. many of which




D. which many

74. In 1775, Daniel Boone opened the Wilderness Trail and made ______ the first settlements in Kentucky.

A. possibly it was




B. as possible

C. possible





D. it possible

75. Rarely _______ seen far from water.

A. spotted turtles




B. spotted turtles are

C. have spotted turtles




D. are sported turtles

76. Sharp knives are actually safer to use _________.

A. as dull ones

B. as ones that are dull

C. than dull ones

D. that are dull ones

77. Daniel Webster, Thadeus Stevens, and many others _______ prominent in public life began their careers by teaching school.

A. they became

B. once they became

C. became

D. who became

78. As coal mines became deeper, the problems of draining water, bringing in fresh air, and ________ to the surface increased.

A. transporting ore

B. to transport ore

C. how ore is transported 

D. ore is transporting

79. ________ because of the complexity of his writing, Henry James never became a popular writer, but his works are admired by critics and other writers.

A. It may be

B. Perhaps

C. Besides

D. Why is it

80. Piedmont glaciers are formed ________ several valley glaciers join and spread out over a plain.

A. by

B. when

C. from

D. that

81. As late as 1890, Key West, with a population of 18,000, ________ Florida’s largest city.

A. that was

B. to be

C. was

D. it was

82. A mastery of calculus depends on __________ of algebra.

A. an understanding

B. is understood

C. to understand

D. understand

83. ________ he was not a musician himself, Lawrence Hammond developed an electronic keyboard instrument called the Hammond organ.

A. Although

B. That

C. Despite

D. For

84. Agnes De Mille’s landmark musical play Oklahoma was ________ of story, music and dance

A. successfully combined

B. a successful combination

C. to combine successfully 

D. successful combining

85. _______ single dialect of American English has ever become dominant.

A. No

B. Not only a 

C. Not

D. Nor a

86. In 1837 the University of Michigan became the first state university _______ by a board of regents elected by the voters of the state.

A. under the control

B. it was controlled

C. being controlled

D. to be controlled

87. Indoor heating systems have made ________ for people to live and work comfortably in temperate climates.

A. it is possible

B. possible

C. it possible

D. possibly

88. Certain fish eggs contain droplets of oil, _________ to float on the surface of the water.

A. allowing them

B. allows them

C. they are allowed 

D. this allows them

89. Considered America’s first great architects, _________.

A. many of the buildings at Harvard University were designed by Henry Hobson Richardson

B. Henry Hobson Richardson designed many of the buildings at Harvard University

C. Harvard University has many buildings that were designed by Henry Hobson Richardson

D. it was Henry Hobson Richardson who designed many of the buildings at Harvard University.

90. ________ is caused by a virus was not known until 1911.

A. That measles 

B. As measles

C. Measles

D. What if measles

91. Ellen Swallow Richards became the first woman to enter, graduate from, and ________ at the Massachusetts institute of Technology.

A. teach

B. a teacher

C. who taught

D. to teach

92. Coins last approximately twenty times _______ paper bills.

A. longer

B. as long

C. long

D. longer than

93. It has been estimated that _________ species of animals.

A. more than a million

B. it is a million or more

C. there are over a million

D. are over a million of

94. Dr. Seuss, ________ was Theodor Seuss Geisel, wrote and illustrated delightfully humorous books for children.

A. his real name

B. who had as his real name

C. with his real name

D. whose real name

95. ________ American landscape architects was Hideo Sasaki.

A. The most famous one of

B. One of the most famous

C. Of the one most famous 

D. The one most famous of

96. Most young geese leave their nests at an early age, and young snow geese are _____ exception.

A. not

B. no

C. none

D. never

97. ________ in 1849, Manuel A. Alonso recorded the customs, language, and songs of the people of Puerto Rico in his poetry and prose.

A. Beginning 

B. He began

C. Having begun

D. The beginning was

98. _______ the sails of a distant ship are visible before the body of the ship.

A. The curve of the Earth makes

B. The Earth, in that it curves, makes

C. Because the curve of the Earth,

D. Because of the curve of the Earth,

99. Printing ink is made _____ of a paste that is applied to the printing surface with rollers.

A. to form

B. the form

C. in the form

D. so that it forms

100. Although ______ cold climates, they can thrive in hot, dry climates as well.

A. sheep adapted well

B. well-adapted sheep

C. sheep, well adapted to

D. sheep are well adapted to

101. I ran _______ her in Paris last month.

A. out


B. by


C. into


D. down

102. The bomb went _____ , killing several bystanders.


A. off


B. on 


C. away

D. out

103. I’m really looking forward _______ your party.


A. about

B. to


C. for 


D. at

104. If ever you’re in London, we can put you ________ for the night.


A. in


B. off


C. on


D. up

105. The soldiers carried ________ their orders without question.


A. with

B. away

C. out


D. for

106. He might have been _______ to death.


A. punished

B. sentenced

C. accused

D. judged

107. I wanted to know the truth, but he always tried to _______ answering my questions.


A. avoid

B. stop


C. keep 

D. hesitate

108. If no one _____ the lost umbrella, the person who found it can keep it.


A. accepts

B. finds

C. claims

D. recognizes

109. He was ______ of murder and sent for trial.


A. sentenced

B. arrested

C. doubted

D. accused
110. However smart she was, she was ________ the chance of going to university.

A. denied

B. given

C. offered

D. excluded

111. The child was kidnapped and a _______ of fifty thousand dollars was demanded for his release.

A. bonus

B. ransom

C. prize

D. reward

112. This drug can only be obtained if you have a doctor’s _________.

A. license

B. permission

C. prescription

D. order

113. Smoking cigarettes often _________  a loss of appetite.

A. brings up

B. succeeds in

C. carries out

D. results in

114. He was very successful ________ the fact that he was not an intelligent person.

A. because of 

B. in spite of

C. for


D. although

115. ________ nonsense the newspapers print, some people always believe it.

A. Whatever

B. However

C. Whoever

D. Whenever

116. The shark _______ him while he was paddling on his surfboard.

A. has attacked 
B. had attacked
C. attacked

D. was attacked

117. I missed my flight because when I reached the airport, the plane ______ off.


A. had taken

B. took


C. hadn’t taken
D. didn’t take

118. The collector ________ his set by the end of the year.


A. will be completing


B. has completed


C. will have completed


D. will complete

119. I can’t find my cheque book. I ___________ it at home.

A. should leave
B. must leave

C. must have left
D. should have left

120. If he ________ on the ice, he wouldn’t have broken his arm.

A. have slipped
B. didn’t slip

C. hadn’t slipped
D. wouldn’t slip

121. Men are better suited __________ harder work.

A. for


B. to


C. in


D. with

122. At present, an enquiry is taking place ________ plans to build a resort two miles north of the town.

A. in


B. into


C. by


D. through

123. The economies of several small countries rely heavily _____ the sale of colorful stamps.

A. on


B. in


C. with


D. by

124. For a collection to grow ______value, you should avoid things sold especially for collectors.

A. by


B. with


C. through

D. in
125. She is staying at her friend’s house ________ the time being.

A. by


B. at


C. for


D. in

126. The film star’s scandal hit the _________.

A. paper

B. press

C. column

D. news
127. The two nations broke off diplomatic _______ with each other yesterday because of a border dispute.

A. channel

B. relations

C. relatives

D. encounter

128. I hope you won’t take ________ if I tell you the truth.

A. annoyance

B. offence

C. resentment

D. irritation

129. Every year the Tuoi Tre newspaper _________ an opinion poll.

A. operates

B. creates

C. conducts

D. causes

130. Anger that you don’t ________ to others can become anger that you turn against yourself.

A. feel


B. express

C. relieve

D. spread

131. He opened the letter without _______to read the address on the envelope.


A. worrying

B. caring

C. fearing

D. bothering
132. I am very _________ in the information you have given me.

A. concerned

B. surprised

C. worried

D. interested

133. Workers who do not obey the safety regulations will be ________ immediately.

A. refused

B. rejected

C. disapproved
D. dismissed
134. I had to get up early, ______ I’d have missed the train.

A. otherwise 

B. if not

C. but


D. so that

135. Scarcely ________ when the fight broke out.

A. he arrived

B. he had arrived
C. did he arrive
D. had he arrived
136. It was as if the whole town ________ asleep.


A. fell


B. had fallen

C. would have fallen
D. should fall

137. _______ he hasn’t said anything, he seems to be upset about it.

A. Because

B. Although

C. If


D. So that

138. Both Mary and Ellen, ________ Jane, are studying nursing at NY university.

A. as well as

B. as well to

C. well


D. and well as

139. I saw him ________ dead by the soldier.

A. shooting

B. to shoot

C. shoot

D. shot
140. Kenny is seriously considering ________ for further studies.

A. having had to leave
B. to leave
C. leaving

D. having left

141. Men contribute less than women _______ household chores.

A. for


B. to


C. on


D. with

142. The police are looking ______ the murder at present.

A. into


B. in


C. by


D. through

143. They are enthusiastic ________ helping the victims of the landslide.

A. on 


B. in


C. about

D. with

144. _____ time, you get a better command of the language.

A. By


B. With

C. about

D. with

145. She is making that mistake time ________ time.

A. by


B. after


C. for


D. at

146. If we ______ the plan you suggest, we are more likely to be successful.

A. decide

B. elect

C. vote


D. adopt
147. The thief was _________ to 6 months in prison.

A. sentenced

B. given

C. sent


D. charged

148. I hope you will take this matter into ________.

A. effect

B. offence

C. consideration
D. notice

149. Every day the doctor has to _________ surgery on different patients.

A. operate

B. create

C. perform

D. cause

150. After a lot of difficulty, he _______ to open the door.

A. managed

B. succeeded

C. obtained

D. realized

151. The plane _______ down at Cairo on its way to India.

A. remained

B. stayed

C. landed

D. touched
152. No educational system is perfect. Each one has its _________.

A. borders

B. limitations

C. limits

D. fences

153. His application was _______ immediately because of his lack of qualifications.

A. refused

B. rejected

C. disapproved
D. dismissed

154. I had to go early _________ I could have a good seat.

A. otherwise

B. if not

C. but


D. so that
155. ________ what he may, it is unlikely that he will succeed.

A. To do

B. Doing

C. Do


D. In doing

156. He is always speaking as though he _________ everything.

A. know

B. knows

C. knew

D. had known

157. He drinks very little ______ the police catch him as he drives home.

A. in the event

B. despite

C. otherwise

D. in case
158. Every man and woman _______ responsible for what he or she does.

A. is 


B. are


C. be


D. have been

159. They caught him _______ things in the shop.

A. steal

B. to steal

C. stolen

D. stealing
160. All students in the school are free to join any club they wish or ________.

A. none

B. not


C. no


D. without

161. They were in prison _________ crimes of violence.

A. by


B. for 


C. because

D. with

162. The bomb went ________, killing several bystanders.

A. off


B. on


C. away

D. out

163. If you are ever in London, we can put you _____ for some nights.

A. in


B. off


C. on


D. up
164. He lost his job _______ no fault of his.

A. through

B. by


C. over


D. with

165. The painting was a valuable family possession, which had been handed _______ from generation to generation.

A. over


B. out


C. across

D. down

166. Life expectancy in the third world is relatively short, ________ in the western world it has increased substantially.

A. unlike

B. contrary

C. whereas

D. therefore

167. He got an excellent grade in his examination _______ the fact that he had not worked particularly hard.

A. on account of
B. because of

C. in spite of

D. although

168.  This kind of animal is on the _______of extinction.

A. verge

B. border

C. edge

D. rim

169. I didn’t break it _________, it was an accident.

A. deliberately

B. accidentally

C. unintentionally
D. carelessly

170. The village had to be _____ when the river burst its banks.

A. removed

B. emptied

C. moved

D. evacuated
171. We need _____ for the walk to raise money for handicapped children.

A. collaborators
B. sponsors

C. supporters

D. assistants

172. I want to know the truth, but he always tried to _______ answering my questions.

A. avoid

B. stop


C. keep

D. hesitate

173. This drug can only be obtained if you have a doctor’s _______.

A. license

B. permission

C. prescription

D. order

174. ________ nonsense the newspapers print, some people always believe it.

A. Whatever

B. However

C. Whoever

D. Whenever

175. Smoking cigarettes often _____ a loss of appetite.

A. brings up

B. succeeds in

C. carries out

D. results in
176. The collector _______ his set by the end of the year.

A. will be completing



B. has completed


C. will have completed


D. will complete

177. It is no use _________ this lotion. It won’t work.

A. to try

B. trying

C. to trying

D. about trying

178. I can’t find my passport. I ___________ it at home.

A. must have left
B. had left

C. should have left
D. must leave

179. It __________ be Jack. He’s too short to reach the top shelf.

A. can


B. can’t 

C. must

D. should

180. If I _______ him yesterday, I would have to come back tomorrow.

A. met


B. hadn’t met

C. didn’t meet

D. have met

II. Reading Comprehension

Passage 1

Money is an international commodity that moves across continents almost as fast as it moves across the street. One of the things that lures money across international borders is the rate of interest. If interest rates are higher abroad than at home, American businesses and investors will move their money out of the USA and into countries with higher interest rates. When domestic interest rates are higher, the flow of money will reverse.

These international money flows are another constraint on monetary policy. Suppose the federal government wants to slow the economy by limiting money-supply growth. Such tight-money policies will tend to raise interest rates in the USA. A higher interest rate is supposed to curb domestic investment and consumer spending. But those higher U.S. interest rates will also be an attraction for foreign money. People holding dollars abroad will want to move more money to the Unites States, where it can earn higher interest rates. Foreigners will also want to exchange their currencies for dollars, again in order to earn higher interest rates.

As international money flows into the United States, the money supply will expand more quickly than the government desired. This will frustrate the government’s policy objectives and may force it to tighten the money supply even more. Capital inflows will also tend to increase the international value of the dollar, making it more difficult to sell U.S. exports. In sum, the internationalization of money is one more problem the federal government has to worry about when it conducts monetary policy.

1. This passage mainly discusses

a. international politics

b. U.S banking

c. International money and monetary policy

d. Interest rates for foreign investors

2. The main idea of the passage is that

a. money is an international commodity

b. interest rates determine the flow of international money

c. the Fed controls the international money market

d. internationalization of money will affect monetary policy

3. Which of the following would be the best title for this passage?

a. Foreign Money in the USA

b. Higher Interest Rates: A Cure for Financial Problems?

c. International Constraints on Monetary Policy

d. Take Your Money Abroad

4. What is the purpose of the passage?

a. To discourage foreign investment 

b. To gain support for the federal government

c. To argue for lower interest rates

d. To discuss the effect of the flow of international money

5. Which of the following best describes the organization of the passage?

a. A classification of monetary policies

b.  A criticism of current monetary policies

c. A response to a proposal for a change in monetary policy

d. An explanation of an issue in monetary policy

Passage 2

Design is the act of making something better. Everything, no matter how ordinary, has been designed.

That some objects give us no special pleasure or are not fashionable does not alter the fact that somebody decided what they would look like, what they would do and how they would be used.

Every time you buy a new kettle or toaster, the quality of the design is influential, encouraging you to choose one kettle or toaster over the others. Good design works well. Excellent design works well and gives pleasure. Look at it the other way round. Some objects look very good but do not work well. Take the Alessi kettle, with its curved handle and two-tone whistle. It looks very exciting but the handle can get too hot to touch. Compare this with the familiar Russell Hobbs automatic electric kettle. It has been in production since the late 1950s, works perfectly and looks good.

Poor designs are easy to find. If you cannot see what is at the back of the kitchen cupboard without getting down on your hands and knees, that is bad design. If you catch your sleeve on a door handle, that is bad design. If you cannot understand how to use the controls on your cooker without searching for the instruction book – and if, when you find the book, you still cannot work the timing switch, that is unpardonably bad design.

The question is: how, when these kinds of faults are so obvious, have some designs ever reached our homes?

The answer is that in most cases, bad designs emerge because not enough energy and time is given to thinking through all the different questions that should be asked about the product.

Kitchen cupboard makers will say that they are making cup-boards as economically as possible. This kind of “cheapness” is one of the main reasons for the absence of good design in our homes. To make a cupboard where the shelves swing out to display the contents when the door is opened is more expensive.

1. What does the passage say that good designers think about?

a. how things will be used

b. what people are used to

c. what is fashionable

d. what will influence people

2. Things which are excellently designed 

a. work perfectly

b. last a long time

c. always get chosen by shoppers

d. both work well and look good

3. What was wrong with Alessi kettle?

a. It was too round

b. It was unreliable

c. The design was impractical 

d. The design was old-fashioned

4. In what way are some cookers badly designed?

a. The handles stick out too far.

b. It is difficult to find the controls

c. Using the timing switch is a confusing process.

d. The instruction books have no diagrams

5. Why do badly-designed things get made and sold?

a. They are quicker and cost less to make.

b. Manufacturers pay low wages to designers.

c. Designers do not know enough about manufacturing processes

d. These are too few food designers.

Passage 3

Between 1977 and 1981, three groups of American women, numbering 27 in all, between the ages of 35 and 65, were given month-long tests to determine how they would respond to conditions resembling those aboard the space shuttle.

Though carefully selected from among many applicants, the women were volunteers and pay was barely above the minimum wage. They were not allowed to smoke or drink alcohol during the test, and they were expected to tolerate each other’s company at close quarters for the entire period. Among other things, they had to stand pressure three times the force of gravity and carry out both physical and mental tasks while exhausted from strenuous physical exercise. At the end of ten days, they had to spend a further twenty days absolutely confined to bed, during which time they suffered backaches and other discomforts, and when they were finally allowed up, the more physically active women were especially subject to pains due to a slight calcium loss.

Results of the tests suggest that women will have significant advantages over men in space. They need less food and less oxygen and they stand up to radiation better. Men’s advantages in terms of strength and stamina, meanwhile, are virtually wiped out by the zero-gravity condition in space.

1. For how long was each woman tested?

a. four days



c twenty-seven months

b. twenty days



d. one month


2. What was the average number of women in each group tested?



a. 9




c. 33



b. 27




d. 50


3. Which of the following can be inferred from the passage?


a. The tests were not carried out aboard the space shuttle.
b. The women involved had had previous physical fitness training.

c. the women were tested once a year from 1977 to 1981.

d. The tests were carried out on women of all ages.


4. Which should be the most suitable title for the passage?

a. Older Women, Too, Can Travel in Space

b. Space Testing Causes Backaches in Women

c. Poor Wages for Women Space-test Volunteers

d. Tests Show Women Suited for Space Travel


5. What can be said about the women who applied?

a. There were 27 in all.

b. They were anxious to give up either smoking or drinking.

c. They had previously earned the minimum wage.

d. They chose to participate in the tests.
6. According to the passage, physical and mental tasks were carried out by the women

a. prior to strenuous exercise.

b. following strenuous exercise
c. before they were subjected to unusual pressure.

d. after they were subjected to unusual pressure.


7. The calcium loss particularly affected 

a. all the women tested.

b. those who had been particularly active in the  previous ten days.

c. those who were generally very active.
d. those who had suffered backaches.


8. Which of the following is suggested as being least useful in space?

a. high resistance to radiation


c. low food intake

b. unusual strength



d. low oxygen intake


9. The physical advantages men enjoy in normal conditions are counteracted by

a. conditioning




c. zero gravity
b. virtue




d. food and oxygen

Passage 4

The legal limit for driving after drinking alcohol is 80 milligrams of alcohol in 100 millilitres of blood, when tested. But there is no sure way of telling how much you can drink before you reach this limit. It varies with person depending on your weight, your sex, if you’ve just eaten and what sort of drinks you’ve had. Some people reach their limit after only three standard drinks.

In fact, your driving ability can be affected by just one or two drinks. Even if you’re below the legal limit, you could be still taken to court if a police officer thinks your driving has been affected by alcohol.

It takes about an hour for the body to get rid of the alcohol in one standard drink. So, if you have a heavy drinking session in the evening you might find that your driving ability is still affected the next morning, or you could even find that you’re still over the legal limit. In addition, if you’ve had a few drinks at lunchtime, another one or two drinks in the early evening may well put you over the legal limit.

In the test with professional drivers, the more alcohol drinks they had had the more certain they were that they could drive a test course through a set of movable posts… and the less able they were to do it!

So the only way to be sure you’re safe is not to drink at all. 

Alcohol is a major cause of road traffic accidents. One in three of the drivers killed in road accidents have levels of alcohol which are over the legal limit, and road accidents after drinking are the biggest cause of death among young men. More than half of the people stopped by the police to take a breathalyzer test have a blood alcohol concentration of more than the legal limit.

It is important to remember that driving after you’ve been drinking doesn’t just affect you. If you’re involved in an accident in affects a lot of other people as well, not least the person you might kill or injure.

1. The amount of alcohol a person can drink before reaching the legal limit is

a. 800 mg of pure alcohol,

b. approximately three standard drinks.

c. Different for different people.

d. Exactly proportional to body weight.

2. When might you be taken to court by the police for drinking and driving?

a. When you have driven a vehicle after drinking any alcohol at all.

b. When you have drunk at least three drinks before driving.

c. Only when tests show that you have 80 mg of alcohol in 100 ml of blood.

d. When the police think that you have been drinking from the way you are driving.

3. When you have been drinking heavily in the evening, the next day you might be

a. still drunk until lunchtime.

b. unable to drive until the evening.

c. Over the legal limit in the morning.

d. unable to drive all day.

4. Alcohol is a major cause of road accidents in that

a. most drivers who die in these accidents have been drinking.

b. More young men die in drink-related accidents than in any other way.

c. Drinking affects people’s eye-sight.

d. One in three drivers drink heavily.

5. What does this article urge you to remember particularly about driving after drinking?

a. You may be taken to court by the police.

b. You are putting yourself in danger.

c. You may hurt another road-user.

d. You put many other people at risk.

Passage 5:

As more women in the United States move up the professional ladder, more are finding it necessary to make business tripe alone. Since this is new for many, some tips are certainly in order. If you are married, it is a good idea to encourage your husband and children to learn to cook a few simple meals while you are away. They will be much happier and probably they will enjoy the experience. If you will be eating alone a good deal, choose good restaurants. In the end, they will be much better for your digestion. You may also find it useful to call the restaurant in advance and state that you will be eating alone. You will probably get better service and almost certainly a better table. Finally, and most importantly, anticipate your travel needs as a businesswoman; this starts with lightweight luggage which you can easily manage even when fully packed. Take a folding case inside your suitcase; it will come in extremely handy for dirty clothes, as well as for business documents and papers you no longer need on the trip. And make sure you have a briefcase so that you can keep currently required papers separate. Obviously, experience helps, but you can make things easier on yourself from the first by careful planning, so that right from the start you really can have a good trip!

1. Who is the author’s intended audience?

a. working women who have no time for cooking

b. husbands and children of working women

c. working women who must travel on their own

d. hotel personnel who must cater to working women

2. Which of following can be inferred from the passage?

a. A greater percentage of women are advancing professionally in the U.S. than previously.

b. Professional men refuse to accompany their female colleagues on business trips.

c. Each year there are more female tourists in the United States.

d. Businesswomen become successful by showing a willingness to travel alone.

3. In this passage, what advice does the author have for married women?

a. Stay home and take care of your family.

b. Encourage your husband and kids to be happy and have fun while you are away.

c. Help your family learn to prepare food for themselves

d. Have your whole family take gourmet cooking classes together.

4. Why are better restaurants especially preferable for frequent travelers?

a. The food is usually better for your health.

b. The tables are better.

c. You can call ahead for reservations.

d. You will not have to eat alone.

5. Why is lightweight luggage important for the traveling businesswoman?

a. It provides space for dirty clothes.

b. It allows for mobility.

c. It can double as a briefcase.

d. It is usually big enough to carry all business documents.

Passage 6

When you are being interviewed for a job, remember that it’s normal for many people to be nervous, particularly in such a stress-producing situation. There are plenty of jobs – indeed, probably most – where a little nervousness isn’t looked at askance. It does help to dry a damp brow or a clammy hand just before meeting the interviewer, but otherwise, don’t be too concerned about the outward manifestations of your nervousness. Experienced interviewers will discount most physical signs of nervousness. The only one that people have a hard time ignoring is a fidgety hand. Interviewees who constantly twist their hands or make movements that are dramatically distracting are calling attention to their nervousness.

Remember that interviewers talk to people in order to hire, not because they enjoy embarrassing uneasy applicants. One way to overcome a flustered feeling, or “butterflies in the stomach,” is to note that interviewers want to hire people who have something to offer the company. If interviewers think you will fit into their organization, you will be the one who is sought after. It’s almost as if you are interviewing them to see if they are good enough for you.

1. According to the passage, the outward sign of nervousness that most attracts the attention of interviewer is

a. a damp brow


c. restless hand gestures
b. clammy hands


d. a jittery stomach


2. An interviewer is someone who

a. is looking for a job

b. seeks facts from prospective employees

c. has already hired you

d. is always on the lookout to trip up applicants


3. It can be inferred from the passage that overcoming nervousness is a matter of

a. wiping your head and hands before entering the interview room

b. taking several tranquilizers before the interview

c. being dramatic and aggressive

d. realizing that interviews are two-sided and making the most of it

Passage 7

Red Rock Canyon, part of the Red Rock Recreation Lands in Nevada, is an escarpment of crimson Aztec sandstone cliffs and canyon walls that reveal the geologic history of the area. Bands of sediment layers tell of a deep-sea bed that 400 million years ago rose eastward to a shoreline in present-day western Utah. As the ancient sea grew progressively more shallow, about 225 million years ago, marine limestone and shales were overlaid by sediments washed in from emerging land areas. As the water in the shallow island, seas evaporated, salts and minerals were deposited in thick beds and fluctuating shorelines created intermixed beds of limestone, shales, and minerals. Sediments from this period gave the canyon its name. Their red color was created from the weathering of iron compounds within. About 180 million years ago the area became arid and was covered in sand dunes more than 2,000 feet deep, which became cemented into the Aztec sandstone that is prominent in the canyon today. Its alternating hues of red, yellow, and white are believed to have resulted from groundwater percolating through the sand and leaching out the oxidized iron.


The most significant geologic feature of the area is the Keystone Thrust Fault, a fracture in the earth’s crust. Sixty-five million years ago, intense pressure thrust one rock plate over another, a phenomenon that can clearly be seen in the contrasting bands of gray limestone and red sandstone, where the gray limestone cap is actually older than the sandstone beneath it. The Keystone is one of the most easily identifiable thrust faults to be found anywhere.

1. With what topic is the passage mainly concerned?

a. The creation of the Keystone Thrust Fault

b. How Red Rock Canyon acquired its name

c. The formation of Aztec sandstone

d. The geologic history of Red Rock Canyon

2. The author of this passage is most likely

a. an animal rights activist

b. a geologist

c. a public relations writer

d. a public works engineer

3. Which of the following can be concluded from this passage?

a. Red Rock Canyon was created in a relatively short time span.

b. The location of a rock layer is not always an indication of its age.

c. The expansion of the sea bed played a significant role in the creation of Red Rock Canyon.

d. Emerging land areas eventually caused the sea to evaporate.
4. According to the passage, the red of the canyon walls is primarily a result of

a. groundwater percolating through the sand

b. the weathering of iron compounds 

c. the evaporation of the inland sea

d. intense pressure on rock plates

5. According to the passage, when did Red Rock Canyon become dry?

a. 400 million years ago

b. 225 million years ago

c. 180 million years ago

d. 65 million years ago

Passage 8

Sylvia Earle, a marine botanist and one of the foremost deep-sea explorers, has spent over 6,000 hours, more than seven months, underwater. From her earliest years, Earle had an affinity for marine life, and she took her first plunge into the open sea as a teenager. In the years since  then she has taken part in a number of landmark underwater projects, from exploratory expeditions around the world to her celebrated “Jim dive” in 1978, which was the deepest solo dive ever made without cable connecting the diver to a support vessel at the surface of the sea. 


Clothed in a Jim suit, a futuristic suit of plastic and metal armor, which was secured to a manned submarine, Sylvia Earle plunged vertically into the Pacific Ocean, at times at the speed of 100 feet per minute. On reaching the ocean floor, she was released from the submarine and from that point her only connection to the sub was an 18-foot tether. For the next 2½ hours, Earle roamed the seabed taking notes, collecting specimens, and planting a U.S. flag. Consumed by a desire to descend deeper still, in 1981 she became involved in the design and manufacture of deep-sea submersibles, one of which took her to a depth of 3,000 feet. This did not end Sylvia Earle’s accomplishments.


1. When did Sylvia Earle discover her love of the sea?

a. In childhood

b. During her 6,000 hours underwater

c. After she made her deepest solo dive

d. Well into her adulthood


2. It can be inferred from the passage that Sylvia Earle

a. is not interested in the scientific aspects of marine research

b. is uncomfortable in tight spaces

c. does not have technical expertise

d. has devoted her life to ocean exploration


3. According to the passage, the Jim suit was made of

a. extra tough fabric

b. rubber and plastic

c. plastic and metal

d. chain mail


4. The main purpose of this passage is

a. to explore the botany of the ocean floor

b. to present a short biography of Sylvia Earle

c. to provide an introduction to oceanography

d. to show the historical importance of the Jim dive


5. Which of the following is NOT true about the Jim dive?

a. It took place in 1981

b. Sylvia Earle took notes while on the ocean floor

c. It was performed in the Pacific Ocean

d. The submarine that Sylvia Earle was connected to was manned

Passage 9

Most of the early houses built in America were suited to farm life, as it was not until cities became manufacturing centers that colonists could survive without farming as their major occupation. Among the earliest farmhouses in America were those built in Plymouth Colony. Generally they consisted of one large rectangular room on the ground floor, called a hall or great room and having a fireplace built into one of the walls, and a loft overhead. Sometimes a lean-to was attached alongside the house to store objects such as spinning wheels, firewood, barrels, and tubs. The furnishings in the great room were sparse and crudely built. Tabletops and chest boards were split or roughly sawed and often smoothed only on one side. Benches took the place of chairs, and the table usually had a trestle base so it could be dismantled when extra space was required. One or two beds and a six-board chest were located in one corner of the room. The fireplace was used for heat and light, and a bench often placed nearby for children and elders, in the area called an inglenook.

The original houses in Plymouth Colony were erected within a tall fence for fortification. However, by 1630 Plymouth Colony had 250 inhabitants, most living outside the enclosure. By 1640 settlements had been built some distance from the original site. Villages began to emerge throughout Massachusetts and farmhouses were less crudely built. Windows brought light into homes and the furnishings and decor were more sophisticated.


As more diversified groups of immigrants settle the country, a greater variety of farmhouses appeared, from Swedish log-style houses in the Delaware Valley to saltbox houses in Connecticut, Dutch-Flemish stone farmhouse in New York, and clapboard farmhouses in Pennsylvania. From Georgian characteristics to Greek revival elements, farmhouses of varied architectural styles and building functions populated the landscape of the new frontier.


1. The main idea of the passage is



a. life in Plymouth Colony



b. the history of the American farmhouse



c. how to build an American farmhouse



d. where immigrants settled in America


2. Which of the following is NOT mentioned as part of the furnishings in a farmhouse?



a. Rocking chair



b. Six-board chest



c. Bench



d. Trestle-based table


3. According to the passage, the earliest farmhouses were built in



a. Delaware Valley



b. Massachusetts



c. Pennsylvania



d. Connecticut

4. It can be inferred from the passage that



a. sophisticated tools were available to the early immigrants



b. the major occupation in Plymouth Colony was carpentry



c. the extended family lived together in the farmhouse



d. cloth was imported from England


5. According to the passage, all of the following are true EXCEPT



a. Immigrants brought a greater variety to the design of houses.



b. The inglenook was a bench for children and elders.



c. Most early colonists were farmers.



d. Early farmhouses consisted of a large room and a loft.

Passage 10
Laser is an acronym for light amplification by stimulated emission of radiation. Stimulated emission is a variation of spontaneous emission, a process that occurs in atoms when an electron in a ground, or unexcited state, is knocked into a higher state when energy is applied to the system. As the electron drops back into ground state, a photon, or particle of light, is released. As de-excitation occurs in millions of atoms, photons are released in a random fashion, and light is emitted in every direction. Stimulated emission, however, causes an increase in the number of photons traveling in a particular direction. An optical cavity, the space formed by two reflective surfaces facing each other, is used to control the direction of the beam. There are solid-state, gas, and liquid lasers, and by subjecting lasing material to various types of energy-electrical, magnetic, or sonic-scientists have been able to control the laser output to suit various functions and applications.


In industry, the laser has proven to be a very versatile tool, particularly for cutting and welding. Lasers are now also used in high-speed printing and in the creation of three-dimensional images, called holograms. Laser tracking and ranging systems have been developed, using light signals to measure distance rather than the radio signals of radar. The use of the laser in biological and medical applications is also rapidly expanding, and the laser is already being used with great success in certain surgical procedures. In the field of communications the laser, used in conjunction with fiber-optic networks, is capable of carrying much more information than conventional wires and is setting the stage for the “electronic superhighway” of the near future.


1. The main topic of the second paragraph is



a. the applications of the laser



b. fiber-optic networks



c. measuring distances with lasers



d. the uses of lasers in medicine


2. It can inferred from the passage that lasers are rapidly becoming



a. obsolete in today’s world



b. more limited in scope



c. a vital part of modern society



d. less flexible in their uses


3. According to the passage, scientists have been able to control laser output by



a. controlling the direction of the beam



b. subjecting lasing materials to various types of energy



c. increasing the number of photons traveling in a particular direction



d. using a variety of lasing materials


4. The author mentions all of the following types of lasers EXCEPT



a. solid-state



b. sonic



c. gas



d. liquid


5. According to the passage, the “electronic superhighway”



a. will replace the laser



b. has nothing to do with lasers



c. will utilize lasers



d. will be in competition with lasers

III. Gap Filling

Passage 1:

All living things, plant or animal, (1) _______ vitamins for health, growth, and reproduction. Yet vitamins are not a source of calories and do not (2) ______ significantly to body mass. The plant or animal (3) _______ vitamins as tools in processes (4) ______ regulate chemical activities in the organism and that use basic food elements – carbohydrates, fats, and proteins – to form tissues (5) _______ to produce energy.

Vitamins can be (6) ______ over and over, and only tiny amounts are needed to replace (7) ______ that are lost. (8)_______, most vitamins are essential in the diet because the body does not produce (9) ______ of them or, in many cases, does not produce them at all.

Thirteen (10) _______ vitamins have been identified by nutritionists: A, eight B-complex vitamins, C, D, E, and K. (11) ______substances, such as carnitine and choline, behave like vitamins but are made in adequate (12) ______ in the human body. 

(13) ______ were originally placed in categories based on (14) ______ function in the body and were given letter names. Later, (15) ______ their chemical structures were revealed, they were also given chemicals names. Today, both naming conventions are used.

1.
A. need
B. needed
C. ask for
D. needs

2. 
A. provide
B. have
C. contribute
D. make

3. 
A. destroy
B. uses
C. damage
D. make use


4. 
A. that
B. whose
C. what
D. where

5.
A. but
B. nor
C. thus
D. and
6.
A. used to
B. got used to
C. used
D. are used

7.
A. the
B. those
C. the one
D. which


8.
A. Unfortunately
B. Anyway
C. Moreover
D. Nevertheless
9.
A. any
B. enough  
C. most
D. almost

10.
A. different
B. another
C. other
D. similar

11.
A. Some
B. Any
C. a lot 
D. None

12.
A. accounts
B. qualities
C. subjects
D. amounts
13. A. Vitamin
B. A vitamin
C. Vitamins  
D. People


14.
A. their
B. its
C. our
D. the vitamin’s

15.
A. before
B. as
C. because
D. although

Passage 2:

(1) ______ three fourths of the Earth’s surface is covered (2) ______ water. Perhaps the most important liquid in the world, water is usually easy to get (3) ______ rain, springs, wells, streams, rivers, ponds, and lakes. It (4) ______ the vast ocean beds. (5) _______ vapor, water is also present in the air, (6) _____ it often condenses into clouds. The bodies of most living (7) _____ contain a large proportion of water. For example, water (8) ______ about 60 percent of the weight of the human body.

Water is (9) _____ for life. Millions of years ago the first (10) ______ of life on earth grew in the sea. Although today many plants and animals are (11) ______ to live on land, they still need water. This life-sustaining makes up (12) _____ of the animal blood or plant sap (13) _____ nourishes living tissues.

Used (14) ______ never used up, water constantly circulates throughout the world. A person taking a drink of (15) _______ today may be drinking the same water that gave refreshment to a Stone Age man.

1. 
A.most
B. nearly
C. more
D. each

2.
A. with
B. in
C. on
D. without

3.
A. for
B. rather than 
C. from  
D. by

4.
A. fills with
B. is full of
C. fills
D. is filled

5.
A. As
B. Unlike
C. Onto
D. In

6.
A. which
B. where
C. who
D. whose

7.
A. plants
B. animals
C. things
D. items

8.
A. includes
B. consists of
C. accounts
D. comprises


9.
A. useless
B. urgent
C. going
D. necessary
10.
A. forms
B. pictures
C. images
D. shadows


11.
A. can
B. able 
C. about
D. happy

12.
A. nearly
B. all
C. most
D. almost

13.
A. what
B. who
C. that is
D. that
14.
A. however
B. but
C. nor
D. except

15.
A. water
B. the air
C. beer
D. wine

Passage 3:

Plants and animals in the temperate zones (1) ______ in various ways to the amount of daylight in 24-hour periods. This response to day length is (2) _____ photo periodism. It controls many activities, (3) ______ them the migration of birds, the hibernation of animals, and the flowering of plants. The (4) _______ to respond to day length is linked to an endogenous, or inner, light-sensitive circadian rhythm. 

(5) ______ the temperate zones, day lengths during the natural 24-hour cycle vary (6) ____ the seasons. In winter and spring, the (7) ______ of light lengthens; in summer and autumn, it (8) _____. Organisms in these (9) _____ undergo alternate 12-hour phases of light sensitivity. During one 12-hour phase, decreasing (10) ______ to light induces a short-day reaction. For example, deciduous trees under the influence of the shorter days of autumn drop their (11) _____. During the other 12-hour phase, (12) ______ exposure to light induces a long-day reaction. Deciduous trees grow leaves again (13) ______ the lengthening days of spring. (14)_____this description has been greatly simplified, it indicates that through their sensitivity to changes in the duration of light, living things can measure day length to determine the reason and the time spans within a reason.

The relationship of this “time sense” to circadian rhythms is easily demonstrated. Florists, for example, often “trick” greenhouse plants into (15)______blossoms out of season by exposing them to understand seasonal periods of  artificial light.

1.  
A. live
B. act
C. fade
D. respond
2.
A. learnt
B. called
C. known
D. famous for

3.
A. among
B. between
C. in the middle of
D. in the centre of

4.
A. point
B. ability
C. way
D. feeling

5.
A. Across
B. Through
C. In
D. In that

6.
A. by
B. within
C. to
D. with
7.
A. period
B. day
C. colour
D. depth

8.
A. softens
B. became short
C. shortens
D. shorter

9.
A. zones
B. branches
C. countries
D. cities

10.
A. heat
B. exposure
C. location
D. disappearance

11.
A. buds
B. branches
C. leaves
D. perfume

12.
A. feeling
B. holding
C. reducing
D. increasing
13.
A. during
B. at
C. into
D. beyond

14.
A. However
B. Although
C. Because
D. No matter what

15.
A. producing
B. doing
C. seeming
D. consuming

Passage 4:

    
Watches and clocks are the (1) ______ common devices for measuring time. The first portable timekeeper, the watch was developed (2) ________ after 1500. Clocks are usually larger and stationary. With recent (3) _______in automation and electronics, modern watches and locks have become less expensive and (4) _______ accurate. An especially accurate time – measuring device, (5) ________the chronometer, is a specialized clock. Some chronometers are (6)_____of measuring time to a fraction of a trillionth of a second, (7)______ amounts to an error of one second every million years .

     
Clocks are made not just to (8) ________ time. They are also (9) _____ for decoration or entertainment. An interesting example of early clock entertainment (10) _______ the great astronomical clock in Prague, Czech Republic. It records not only the time (11) ______ the day of the year and the positions of the sun and the moon. At the stroke of the hour a miniature performance occurs. A cock crows, figures beside the dial do a pantomime, and a replica of a skeleton tolls the hour.

     
Initially, the purpose of clocks and watches (12) _______ primarily social – to coordinate the times (13) ________ merchants and craftsmen would meet, come to work, or exchange goods. For this purpose extremely high accuracy was (14) _______. With the development of transatlantic commerce, (15) ________, and its expansion in the 17th and 18th centuries, accurate time measurements were needed to determine longitude at sea.

1.  
A. more
B. most
C. best
D. largest

2.
A. shortly
B. importantly
C. carefully
D. usually

3.
A. problems
B. things
C. drawbacks
D. advances
4.
A. more
B. the most 
C. maybe
D. less

5.
A. that is called
B. called
C. be called
D. made a call

6.
A. able
B. maybe
C. capable
D. possible

7.
A. that
B. when
C. which
D. where

8.
A. shout
B. sing
C. get to know
D. tell
9.
A. used
B. famous
C. aim
D. connected

10.
A. are
B. is
C. were
D. used to

11.
A. also
B. except
C. but
D. and


12.
A. was
B. are
C. is
D. were

13.
A. where
B. that
C. who
D. of which


14.
A. necessary
B. important
C. vital
D. unnecessary

15.
A. moreover
B. however
C. what is more
D. in addition

Passage 5:   

   
Nutrition is the (1) ____ of how the body ingests food and uses it. It provides (2) _____ about the type of food a person must eat to promote and maintain (3) _______health. Such knowledge helps the person develop and apply proper (4) ________ habits to maintain healthful living.

    
A (5) _______, or the food regularly eaten, must contain all the essential nutritional elements; proteins, carbohydrates, fats, vitamins, minerals, and (6) _________. If a person’s diet is consistently (7) ________in any of these nutrients, health is impaired and disease may result. Lack of the mineral iron, for example, is (8) ________of the disease anemia; scurvy is a disease caused by a deficiency of vitamin C.

   
A health body is able to (9) _____ two basic physiological functions. It has (10) ____the capacity to grow and to convert certain substances (11) ________ energy. Growth means an increase in size, not only (12) ______ the entire body but also of (13) ______ body part. It also involves replacement of worn-out tissues and the healing of (14) ______ caused by injury or disease. The body requires a steady supply of building materials and fuel to (15) _____ the energy that powers all the body’s vital processes. Since the body does not maintain an unlimited supply of building materials or fuels, these must be obtained from an outside source-food.

1.
A. definition
B. part
C. meaning
D. study
2.
A. technology
B. techniques
C. information
D. communication

3.
A. poor
B. good
C. bad
D. strong

4.
A. drinking
B. nutritional
C. nursery
D. caring

5.
A. diet
B. meal
C. milk
D. habit

6.
A. water
B. air
C. cake
D. alcohol

7.
A. full
B. increasing
C. disappearing
D. deficient
8.
A. example
B. considered
C. typical
D. represented

9.
A. work
B. perform
C. carry
D. create

10.
A. not only
B. either
C. both
D. neither

11.
A. into
B. out of
C. from
D. upon

12.
A. of
B. with
C. within
D. by

13.
A. all
B. each of
C. every
D. each one

14.
A. soul
B. wounds
C. matters
D. feelings

15.
A. do
B. absorb
C. produce
D. manufacture

Passage 6:  

Potential threats and hazards (1) ________ human health have changed significantly over the (2) _____ 100 years. (3) _____ in the leading causes of death and disease show a shift (4) _____ infectious diseases (such as pneumonia, influenza, and tuberculosis) to chronic degenerative diseases (such as heart disease, cancer, and stroke). These chronic diseases are greatly influenced (5) ______ personal life-style.

Today life-style is considered (6) ________ of a health determinant than it was in 1900, (7) ______ the leading cause of death was pneumonia and influenza. (8) _______ the development and widespread use of antibiotics and vaccines, communicable diseases have been effectively (9) _____ in the United States, (10) ______ the leading cause of death is heart disease. It is estimated that health-life-style factors (11) _____ to 54 percent of all deaths due to heart disease. Health-life-style risk factors for heart disease (12) _____ smoking, hypertension, lack of exercise, obesity, and stress. (13) ______ of these risk factors can be controlled by the individual. (14) ______ health status is often determined by environment, heredity, and the available health-care-delivery systems, personal health life-style (15) ______ a major factor. Major risks include alcohol and drug abuse, high blood pressure, exposure to occupational health hazards, poor safety habits, and nutritional deficiencies.

1.
A. for
B. to
C. at
D. inside

2.
A. past
B. next
C. coming
D. to come

3.
A. progress
B. Changes
C. knowledge
D. fluctuation

4.
A  in
B. since
C. from
D. for

5.
A. through
B. in
C. despite
D. by
6.
A. more
B. the most
C. less
D. the worst

7.
A. which
B. when
C. who
D. that


8.
A. because
B. without
C. Through
D. outside

9.
A. controlled
B. delayed
C. cancelled
D. spread

10.
A. that
B. which
C. when
D. where
11.
A. are
B. cause
C. take place
D. contribute
12.
A. for example
B. like
C. include
D. such as

13.
A. Not
B. Most
C. Every
D. Little

14.
A. When
B Although
C. In spite of
D. As soon as


15.
A. was
B. can
C. is
D. are

Passage 7:

The body’s (1) _______ to a threat or demand arising from a new or changing situation is (2) _____ stress. The emotional and physical experiences of stress (3) ______ be caused by a complex and tense situation. (4) ______ stress, the body makes rapid physiological changes, called adaptive responses, to (5) _____ with threatening situations. In the (6) _____stage of stress, alarm, the body mobilizes its “fight or flight defenses, (7) _____ to resist the stress-causing factor or adapt to it. In this stage, the pituitary-adrenocortical system pours hormones (8) ______ the blood stream. The pulse quickens, the lungs take in (9) ______ oxygen to fuel the muscles, blood sugar increases to supply added energy, digestion slows, and perspiration (10) _____. 

In the second stage of (11) ______, resistance, the body begins to repair the incidental damage (12) _____ by the arousal in the alarm stage. (13) ______ the stressful situation is resolved, the stress symptoms vanish. If the stressful situation (14) ______, however, a third stage, exhaustion, sets in, and the body’s adaptive energy runs out. This stage may continue (15) ______ vital organs are affected, and then disease or even death can result.

1.
A. response
B. action
C. activity
D. performance

2.
A. called
B. worried
C. happened
D. taken
3.
A. used to
B. dare
C. can
D. are going to

4.
A. Inside
B. Under
C. Towards
D. Through

5.
A. go
B. deal
C. come
D. cause

6.
A. last
B. dangerous
C. past
D. first
7.
A. neither
B. both
C. either
D. not only

8.
A. out of
B. upon
C. across
D. into
9.
A. many
B. more
C. few
D. none

10.
A. increases
B. does
C. resists
D. recalls

11.
A. impatience
B. stress
C. tiredness
D. irritability

12.
A. happened 
B. taken place
C. caused
D. led

13.
A. Whether
B. Unless
C. What if
D. If
14.
A. continues
B. begins
C. starts
D. ends


15.
A. before
B. until
C. when
D. while

Passage 8:

Shelter (1) _____ people from their surroundings. It provides a (2) _____ for families to cook, eat, sleep, and raise their children. It protects them from extreme (3) _______, strong winds, and storms. Shelter provides privacy and (4) ______ from human and animal enemies. It also protects (5) ______, such as clothes, dishes, books, and pictures. Domestic animals, food supplies, and tools may be (6) ______ in the shelters occupied by their owners or in separate shelters, (7) ______ as barns and granaries.

Shelter may be less necessary for survival (8) _____ people sometimes think. Some tribes in Southeast Asia, Australia, and South America do not (9) ______ houses. The Ona of Tierra del Fuego (10) ______ elaborate huts for their rituals but use only windbreaks for shelter from cold (11) ______. In some large African and Asian cities, great (12) ____ of people are homeless. In Calcutta, India, for example, (13) ______ the climate is mild, many people have (14) _____or no shelter. They sleep under stairways or (15) _____ in the streets. 

1.
A. stops
B. causes
C. separates
D. makes

2.
A. place
B. reason
C. course
D. picture

3.
A. land
B. temperatures
C. ground
D. fresh air

4.
A. safety
B. danger
C. comfort
D. competition

5.
A. values
B. things
C. belongings
D. items

6.
A. killed
B. cured
C. served
D. kept
7.
A. so
B. such
C. like
D. for instance

8.
A. in comparison with
B. compared with
C. in accordance with
D. than
9.
A. build
B. set
C. move
D. travel

10.
A. begin
B. build
C. establish
D. found

11.
A. clothes
B. people
C. animals
D. weather
12.
A. deal
B. amounts
C. numbers
D. quantities

13.
A. that
B. where
C. why
D. which

14.
A. large
B. few
C. bigger
D. little
15.
A. except
B. even
C. however
D. no doubt

Passage 9:

(1) ______ the calendar, people looked to the sky for signs (2) ______ a new season was approaching. (3) _____ knowledge was vital to determine planting and harvesting times. In the Northern Hemisphere, for example, the bright star Regulus climbing above the eastern horizon (4) _____ that spring is at hand. Blood-red Antares heralds the (5) ______ of summer. The square of Pegasus means that autumn is (6) _______, and the appearance of Aldebaran is a sure (7) _______ of winter. 

The seasons have a profound (8) ______ on plant and animal life. In spring, plants and trees sprout new (9) ______, flowers appear, birds migrate to warmer regions, and many animals (10) _____ from hibernation. With summer, the lengthy hours of sunshine provide (11) _____ for photosynthesis and stimulate growth in plants and animals (12) ______. In autumn, the final harvesting is done, many plants shed (13) _____ leaves, birds migrate to warmer regions, and nearly all furry creatures grow new, thick coats. With winter, animals (14) _____ or construct warm, protected burrows; seeds (15) _______ hard coats to keep out the cold; and buds are wrapped in wax as protection against ice. 

1.
A. Before
B. After
C. Just before
D. Only when

2.
A. who
B. where
C. that 
D. how much

3.
A. Some
B. Such
C. A little
D. A lot of 

4.
A. displays
B. signs
C. dignifies
D. signals
5.
A. mobility
B. motion
C. approach
D. travel

6.
A. near
B. there
C. going
D. away

7.
A. fact
B. vision
C. result
D. sign
8.
A. impression
B. effect
C. image
D. cause

9.
A. sheds
B. makes
C. leaves
D. manufacture

10.
A. sleep
B. go away
C. overcome
D. emerge
11.
A. energy
B. electricity
C. capability
D. enemy

12.
A. awake
B. special
C. alike
D. like

13.
A. the tree’s
B. its
C. our
D. their
14.
A. dislike
B. fly
C. hibernate
D. stand

15.
A. have
B. found
C. appear
D. give up

Passage 10:

The ancient Greeks believed that (1) ______ was a punishment sent upon them when the god Apollo was angry. The only way for sick people to (2) _____ well was by praying to this god and assorted others. Apollo’s son, Aesculapius, was the god of medicine. The words panacea, a nonexistent remedy (3) ________ illness, and hygiene, conditions and practices conducive (4) _______ health, come from Aesculapius’s two daughters, Panacea and Hygieia.

(5) ______ that gods and goddesses could influence health were discarded (6) _____ the ancient Greek physician Hippocrates separated myth and superstition (7) _____ the study of medicine. The modern concept of health is defined (8) ______ the general physical, mental, and emotional ability (9) ______ function effectively and in harmony with (10) ______ environment.

Health is a dynamic condition (11) _______ represents a range of physical and emotional states. Good health is more (12) ______ the absence of disease. A person afflicted with a temporary illness, such as seasickness, for example, does not necessarily have bad health as a (13) ______ of such a mishap. Moreover, physical condition and health (14) _____ not synonymous terms. A basketball player in excellent health condition can (15) _______ have poor health. 

1.
A. health
B. illness
C. good health
D. poverty

2.
A. get
B. come
C. help
D. count

3.
A. with
B. on
C. in
D. for
4.
A. to
B. for
C. with
D. behind

5.
A. facts
B. truth
C. Beliefs
D. lie

6.
A. why
B. when
C. although
D. whereas

7.
A. away
B. through
C. by
D. from
8.
A. as
B. like
C. such as
D. so as

9.
A. in order for
B. for
C. to
D. no preposition

10.
A. one’s
B. its
C. whose
D. ones

11.
A. of whom
B. that
C. where
D. from which

12.
A. as
B. as well as
C. important
D. than
13.
A. cause
B. reason
C. result
D. impact

14.
A. would rather
B. are 
C. would be
D. is

15.
A. still
B. only
C. just
D. both

IV. ERROR CORRECTION
1. In an essay writing in 1779, Judith Sergeant Murray promoted the cause of women’s 

            A              B                                                                                          C                     
education.

      D

2. A metallic object that is in contact with a magnet becomes a magnet themselves.

                                   A                B                                  C                            D
3. The change from summer to winter occurs very abrupt in the tundra regions of 

     A                                      B                C                                D

North America.

4. In outer space, spacecraft can be maneuvered by means small steering-rockets.

    A                                            B                                 C                       D

5. Echoes occur when sound waves strike a smooth surface and bounces backwards.

                              A                  B                       C                                D
6. A good carpentry must posses a wide variety of skills.

                        A                    B                    C             D 

7. Grover Cleveland was the only American president which served two 

    A                                           B         C

nonconsecutive terms.

                               D

8. The American soprano Mary Gardner, who had one of greatest operatic voices of 

        A                        B

her era, retired at the height of the career.

                                       C         D
9. On nights when is the sky clear and the air is calm, the earth’s surface rapidly radiates heat into 

A                                      B                                          C                             D

the atmosphere.

10. Dreams are commonly made up of both visual or verbal images.

                                A                B                            C                D

11. The trap-door spider makes a hole in the ground, lines it with silk, and closing it with a 

         A                                                         B                   C
hinged door.

            D
12. Sleepiness is one symptom of hypothermia, the extreme lost of body heat.

              A                        B                                            C           D
13. The flute is the only woodwind instrument that is not done of wood.

             A                  B                                                           C            D

14. F. Scott Fitzgerald’s novel The Great Gatsby is about the pursuit of wealthy, status, and love 

                                                                                       A              B              C                          D
in the 1920s.

15. Whenever there are red, orange, or brown coloring in sandstone, iron ore is 

A               B
probably present.

      C            D

16. Feathers keep birds warm and dry also enable them to fly.

                                          A                    B                    C      D

17. Some species of penicillin mold are used to ripe cheeses.

          A                                                    B             C        D

18. In about 1920, experimental psychologists have devoted more research to learning 
      A                                                    B                                                                    C

than to any other topic.

                 D
19. Natural asphalt lakes are find in many parts of the world.

                                   A           B              C               D

20. All living creatures pass on inherited traits from one generation to other.

               A                        B                                   C                                      D
21. Many of the events that led up to the American revolution took placed in 
         A               B                                                            C          D

Massachusetts.

22. Mass production is the manufacture of machineries and other articles in standard 
         A                       B                                                 C

sizes and large numbers.

        D
23. Not much people realize that apples have been cultivated for over 3,000 years.

            A                        B                                     C                          D               

24. The destructive force of running water depends entirely almost on the velocity of its flow.

                     A                          B                                          C                                          D

25. The eastern bluebird is considered the most attractive bird native of north America 
   A                           B                            C                                       

by many bird-watchers.   

       D
26. Much superstitions and symbols are connected with Halloween.

          A            B                                  C                      D

27. Luray Caverns in northern Virginia contain acres of colorful rock formations 
       A                                      B              C

illumination by electric lights.     
       D 

28. Furniture makers use glue to hold joints together and sometimes to reinforce it.
                                                     A                    B                     C                           D
29. Anthracite contains a higher percent of carbon than bituminous coal.

                             A              B         C               D

30. Sheep have been domesticated for over 5,000 years ago.

         A                               B                     C                     D
31. The hard, out surface of the tooth is called enamel.

                        A                B       C             D

32. Aneroid barometers are smaller than mercury barometers and are more easy to 
                                         A                   B                                                          C
carry.

  D

33. Liquids take the shape of any container which in they are placed.

                                 A                                        B         C               D

34. The earliest form of artificial lighting was fire, which also provided warm and 
                                             A             B                                  C                     D
protection.

35. Publishers of modern encyclopedias employ hundreds of specialists and large 
       A                              B                 C                            
editorials staffs.

      D                                                

36. Automobiles begun to be equipped with built-in radios around 1930.

                                A                        B                 C                      D

37. The thread used in knitting may be woolen yarn, cotton, or synthetic fabric threads 
A                  B                                       C                                              
such rayon.

         D
38. All mammals have hair, but not always evident.

       A                      B                C          D

39. Asparagus grows well in soil that is too much salty for most crops to grow.

                                     A                B             C                        D

40. A professor of economic and history at Atlanta  University, W. E. B. Du Bois 
   A                    B
promoted  full racial equality.

                  C

      D
41. Bubbles of air in ice cream make it soft and enough smooth to eat.

                    A                                 B                              C                  D

42. However type of raw materials are used in making paper, the process is 
A                                  B                              C

essentially the same.

                        D

43. Ducks are less susceptible to infection than another types of poultry.

                          A                     B                              C                         D

44. Lake Tahoe’s great deep of 1,600 feet prevents it from freezing in the water.

                                          A                    B                   C               D

45. By 1675, Boston was the home port for almost 750 ships, ranging in size between 30 
       A                                          B                                              C                        D
to 250 tons.

46. The silk thread that spiders spin is much finer than silk that it comes from 
    A                                                 B       C                                D
silkworms.                                                

47. Needles are simple looking tools, but they are very relatively difficult to make.

                                     A                        B                          C                                D

48. Winslow Homer, who had no formally training in art, became famous for his 
       A                 B 




     C

paintings of the sea and seacoast.                                                                
      D

49. The reflection of sunshine off snow can be so intense that it causes a condition 
       A        B                            C                         D

known as “snow blindness.”         

50. The first rugs were made by the hand, and the finest ones are still handmade.

             A                                       B                                  C                 D

51. Alike the United States, Canada conducts a complete census of its population 
          A                                                      B                C

every ten years.

   D                                                         

52. Natural resources provide the raw material are needed to produce finished goods.                                 

          A                                                                         B                   C                         D

53. Because they are so secretive, blind snakes are seldom seen, and its habits are not 
    A                                                                     B                      C
well known.
       D
54. The main rotor and tail rotor of a helicopter make the same job as the wings, 
A                       B              C

 D

propellers, and rudder of an airplane.                                        

55. X rays are too powerful that they can penetrate most solids as easily as light passes 
  A                                                          B                       C                             
through glass.

    D

56. Machines that use hydraulic pressure including elevators, dentist chairs, and 
         A                                      B                                       C
automobile brakes.

        D

57. The Franklin stove, which became common in the 1780s, burned wood more 
A        B

efficiency than an open fireplace.

        C     

         D
58. The coastline of Maine is marked by thousand of islands and inlets.

                              A                   B                   C                 D

59. Metals can be beaten into thin sheets, melted and poured into molds, or drawing into 
A                      B                                       C                       D
fine wire.

60. Stone Mountain, a huge dome of granite near the city of Atlanta, is 1,686 feet 
      A                                  B                                                          

height and measures 7 miles around at its base. 

  C                           



 D
61. Since ancient times, some people wore amulets, objects that are supposed to give 
  A                                      B                                                  C

the wearer magical powers.

 D
62. Dance notation is a means of recording the movements of dances by using of special 
A            B                     C                                  D
symbols.

63. Approximately the third of Alaska’s land area lies north of the Arctic Circle.

                                     A                                B           C            D

64. No cactus has flowers most beautiful or fragrant than those of the night-blooming 
      A                                            B                      C                 D

cereus.

65. The poet Amy Lowell sometimes wrote literary criticism and biographical.    

                A                                B                       C                                    D
66. Each of the chemical elements have its own standard symbols. 

                   A         B                          C         D

67. A balloon rises because of the hot air or gas inside the balloon is lighter than the 
       A                          B                                                  C

air outside.

         D

68. Just three years afterwards Martha Graham’s first dance lesson, she starred in the 
      A                                       B                          C                D
ballet Xochitl.

69. The delicate color of rose quartz is due the presence of manganese in the mineral.

                  A                                               B            C                                         D

70. Most large corporations have personnel departments responsible to hiring and 
        A                                                                                             B
firing workers and for keeping employee records.
   C           



   D

71. Costume jewelry is made of plastic, wood, or inexpensive metal, and they may be 
A                                             B                             C
set with semiprecious or imitation stones.

      D
72. The medicine of prehistoric peoples probably consisted of a mixture of scientific 
     A                                                                           B

practices, superstitions, and religious believes.

      C                                                             D

73. The sculptors of Louise Nevelson typically consisted of complex arrangements of large black 
      A                                      B                                           C                    D
wooden boxes. 

74. Engineering is a profession who puts scientific knowledge to practical use.

               A                                     B                 C                           D

75. Fire blight, a common disease of apples and pear trees, can sometimes be 
A                             B
controlled with an antibiotic spray.               
    C             D

6. Radio stations at which broadcast only news first appeared in the 1970s.

                                  A                              B                     C         D

77. Newspaper editor James G. Bennett believed that the journalist’s task was not 
       A                                                                                                    B
merely to inform readers but to startle them as well as.

       C                                                          D
78. In the tundra regions of North America, the change from summer to winter occurs 
          A                                                                 B                                     C                               
very sudden.

           D
79. Natural bridges of stone are formed the action of water or wind-driven sand. 

                                     A                  B                                      C           D

80. In Babbitt and other novels, Sinclair Lewis presented critical portraits of middle-
      A                                                          B

class Americans who thought of them as model citizens.

   C                  D
81. Quite logically, nearly all early roads followed course of river valleys.

                     A              B                                                 C                D

82. The plants of the desert are so spaced widely because of a scarcity of water that 
                                                                A                     B

there is little or no competition for water among them.

          C                                                     D
83. Drowsiness is one symptom of hypothermia, the extreme lost of body heat.

                                            A                                       B            C              D

84. A globe presents a picture of the Earth with practically not distortions.

                          A                              B                         C          D
85. It is about 125 years for the cedar tree to reach its full height.

         A                             B                                          C            D

86. Compared to those of animals, the fossil record for plants is quite sketchy.

               A             B                                                           C            D

87. Life that we know it is based on the element carbon.

               A                   B           C                   D

88. A rattlesnake has a spot between one’s eyes that is sensitive to heat.

                                                  A             B                               C           D

89. Improvements in people’s health are due in part to advances in medical care and 
      A                                                    B                  C                                                       
better sanitary.

               D
90. In 1792, a corporation constructed a 60-miles toll road from Philadelphia to Lancaster, 
      A                                            B                   C                        D

Pennsylvania.

91. Insects appeared on earth before long the earliest mammals. 

                       A          B                   C                           D

92. All of Agnes Repplier’s writings, even those on the most serious subjects, show her sense 
         A                                                   B                        C
of humorous.

D                                                                    

93. Fungi are the most important decomposers of forest soil just like bacteria are the 
A                                                      B            C
chief decomposers of grassland soil. 

   D
94. Halifax Harbor in Nova Scotia is one of the most safe harbors in the world.

                                                          A                     B                C              D

95. Ballpoint pens require a tiny, perfectly round ball for its tips.       

                                    A                     B           C                D
96. Since the 1930s, the archaeology has become a precise science with strict rules and 
          A                                  B                                          C                                       D

procedures.

97. Interstate Highway 80 is so an important road that it is sometimes referred to as 
     A             B                       C                              D

“America’s Main Street.”                         

98. John Jay, a diplomat and statesman, first entered public live in 1773.

                               A                                            B           C        D
99. Mount Hood in Oregon is a center for alpine sports such as skiing, climbing, and 
    A                      B                                C                                

hikes.
 D
100. The chameleon’s able to change color to match its surroundings is shared by quite a 
      A                                              B                               C                        
few lizards.

 D
101. Florence Sabin is recognized not only for her theoretical research in anatomy and 

                                              A                        B                                                   C

physiology and for her work in public health.

                     D

102. The top layer of the ocean stores as much heat as does all the gases in the 
A                                            B                      C
atmosphere.

         D

103. Almost lemons grown in the United States come from farms in Florida and 
  A                     B                                                   C      D

California.

104. Hair is made of the same basic material as both the nails, claws, and hooves of 
          A                                                                   B                                              C

mammals are made of.

             D
105. Not until geologists began to study exposed rocks in ravines and on 
A                        B                                          C

mountainsides they did discover many of the earth’s secrets. 

       D
106. The water of the Gulf Stream may be as much as 20 percentage warmer than the 
        A                      B                         C                 
surrounding water.

         D                                                                             

V. SENTENCE TRANSFORMATION
Find the sentences that are written in such a way that they mean the same as the sentences printed before them.

1. I am afraid I’m still having problems with understanding life in New York.

A. I am not used to living in New York.

B. I am not used to live in New York. 

C. I did not use to living in New York.

D. I did not use to live in New York.

2. I think we need to get a new car.

A. We need to get a new car in my opinion.

B. We need to get a new car on my opinion.

C. We need to get a new car according to my opinion.

D. We need to get a new car for my opinion.

3. I’d prefer it if you didn’t smoke in here.

A. Would you mind not smoking in here?

B. Would you mind not smoke in here?

C. Would you mind not to smoke in here?

D. Would you mind not to smoking in here?

4. Many people were delayed because of the traffic jam.

A. Many people were delayed because the traffic jam. 

B. Many people were delayed of the traffic jam. 

C. A number of people was delayed by the traffic jam.

D. A number of people were delayed by the traffic jam.
5. It was such an interesting novel that I stayed up all night to finish it.

A. The novel was so interesting that I stayed up all night to finish it.

B. The novel was interesting so I stayed up all night to finish it. 

C. It was an interesting novel so I stayed up all night to finish it.

D. It was so interesting that I stayed up all night to finish the novel.

6. Although he was able to do the job, he wasn’t given the position.

A. Despite his ability to do the job, he wasn’t given the position.

B. Despite of his ability to do the job, he wasn’t given the position.

C. In spite his ability to do the job, he wasn’t given the position. 

D. He wasn’t given the position though he can do the job.

 7. You should take the train instead of the bus.

A. If I were you, I’d take the train instead of the bus.

B. You should take both the train and the bus.

C. You should take the train or the bus.

D. If I was you, I’d take the train instead of the bus.

8. Can you describe him to me?

A. What is he like?

B. What does he like?

C. What is he look like?

D. Can you tell me what is he like?

9. It isn’t necessary to buy a first class ticket.

A. You don’t have to buy a first class ticket.

B. You shouldn’t buy a first class ticket.

C. You can’t buy a first class ticket.

D. You may not buy a first class ticket.

10. I’m sure he was at home last night.

A. He must have been at home last night.

B. He may have been at home last night.

C. He might have been at home last night.

D. He could have been at home last night.

11. You must never take your helmet off while you are riding a motorcycle.

A. Helmets must be worn at all times when riding a motorcycle.

B. Helmets must have been worn at all times when riding a motorcycle. 

C. Your helmet must not have taken off while you are riding a motorcycle.

D. Your helmet must not take off while you are riding a motorcycle.

12. They wanted to apologize for their behavior: that’s why they paid for dinner.

A. They paid for dinner in order to apologize for their behavior.

B. They paid for dinner because of apologize for their behavior.

C. They wanted to apologize for their behavior so that they paid for dinner. 

D. They wanted to apologize for their behavior at dinner.

13. It isn’t necessary to bring skis as they are included in the package.

A. You don’t have to bring skis because they are included in the package.

B. You don’t have to bring skis while they are included in the package. 
C. You shouldn’t bring skis as they are included in the package.
D. You can’t bring skis as they are included in the package.

14. You thought parking was allowed here.

A. I was under the impression that parking was allowed here.

B. I was in the impression that parking was allowed here.
C. On your opinion parking was allowed here.
D. For your opinion parking was allowed here.

15. Tom said, “I will be playing tennis when you arrive.”

A. Tom said he would be playing tennis when I arrived.

B. Tom said I would be playing tennis when you arrived. 

C. Tom said I would be playing tennis when i arrived.

D. Tom said he would be playing tennis when he arrived.

16. When I was a child, we would go to the local park every Saturday afternoon.

A. When I was a child, we used to go the local park every Saturday afternoon.

B. When I was a child, we used to going the local park every Saturday afternoon.
C. When I was a child, we are used to go the local park every Saturday afternoon. 
D. When I was a child, we are used to going the local park every Saturday afternoon.
17. His daughter continued to cry until he could not be seen any longer.

A. She continued to cry until he was out of sight.

B. She continued to cry until he’s out of sight.

C. She continued to cry until he goes out.

D. She continued to cry until she could not have seen her father any longer.

18. I’m afraid that car is just too expensive.

A. That car is beyond my means.

B. That car is beyond my dreams.

C. That car is in my dreams.

D. That car is too expensive for me to buy it.

19. They moved to this suburb in 1997.

A. They lived in this suburb in 1997.
B. They was living in this suburb in 1997.

C. They have lived in this suburb since 1997.
D. They have lived in this suburb for 1997. 

20. One other thing before I forget – Jack is coming to visit next weekend.  

A. By the way, jack is coming to visit next weekend.

B. On the way, jack is coming to visit next weekend.

C. In the way, jack is coming to visit next weekend.

D. At the way, jack is coming to visit next weekend.

31. They managed to finish the project in time for the presentation.

A. They succeeded in finishing the project in time for the presentation.

B. They succeeded on finishing the project in time for the presentation.
C. They succeeded at finishing the project in time for the presentation.
D. They succeeded for finishing the project in time for the presentation.
32. Maurice didn’t come to the meeting yesterday. Perhaps he was ill.

A. Maurice might have been ill yesterday.

B. Maurice can have been ill yesterday.

C. Maurice could have been ill yesterday.

D. Maurice should have been ill yesterday.

33. Jane allows her children to stay untill midnight on Saturday evenings.

A. Jane lets her children stay up late on Saturday evenings.

B. Jane lets her children to stay up late on Saturday evenings.
C. Jane lets her children staying up late on Saturday evenings.
D. Jane lets her children stayed up late on Saturday evenings.
34. Luckily, Peter wasn’t charged with an offense when the police caught him stealing the first time.

A. Peter was very lucky because the police caught him stealing the first time. 

B. Peter was very lucky because he was caught the first time.

C. Peter was very lucky because he was let off.

D. Peter was very lucky because he was stolen the first time.

35. Can I accompany you to the party?

A. Do you mind my accompanying you to the party?

B. Do you mind accompanying you to the party?

C. Do you mind to accompany you to the party?

D. Do you mind I accompany you to the party?

36. I wish you didn’t drive so fast.

A. If only you didn’t drive so fast.

B. If only you hadn’t driven so fast.

C. Only if you didn’t drive so fast.

D. Only if you hadn’t driven so fast.

37. I think Tom needs to see a doctor. His cough is terrible.

A. On my opinion tom needs to see a doctor because his cough is terrible. 

B. Because that terrible cough, tom needs to see a doctor.

C. Because that terrible cough, tom ought to see a doctor.

D. With that terrible cough, Tom ought to see a doctor.
38. You should feel horrible! Why did you say that to Jack?

A. Shame on you! Why did you say that to Jack?

B. Shame to you! why did you say that to jack?

C. Shame for you! why did you say that to jack?

D. Shame you! why did you say that to jack?

39. The authorities said she wasn’t responsible for the accident.

A. The accident wasn’t her fault.

B. The authorities said it was not her responsible for the accident.

C. She was not said to be responsible for the accident.

D. The accident was not responsible by her. 

40. “Why don’t you take the holiday?” said Peter.

A. Peter suggested I take a holiday.

B. Peter suggested I took a holiday. 

C. Peter asked why he didn’t take a holiday.

D. Peter said to me why didn’t I take a holiday.

41. I haven’t seen Tom for ages.

A. It’s been a long time since I last saw Tom.

B. It was a long time since I last saw tom.

C. It’s a long time since I last saw tom.

D. It’s a long time I haven’t seen tom.

42. They were still playing tennis after three hours.

A. They had been playing tennis for three hours.

B. They were playing tennis for three hours.

C. They have been playing tennis for three hours.

D. They have been playing tennis since three hours.

43. He didn’t want to join in the celebrations.

A. He didn’t want to take part in the celebrations.

B. He didn’t want to attend in the celebrations.

C. He didn’t want to visit the celebrations.

D. He didn’t want to go to the celebrations.

44. What a shame he wasn’t able to come.

A. Shame him that he wasn’t able to come.

B. I wish he was able to come.

C. I wish he had been able to come.

D. I wish he has been able to come.

45. I took a sweater but it wasn’t necessary.

A. I took an unnecessary sweater. 

B. I shouldn’t have taken a sweater.
C. I mustn’t have taken a sweater.
D. I needn’t have taken a sweater.

46. If you don’t know how to spell the word, why don’t you check in the dictionary?

A. Why don’t you look the word up in the dictionary?
B. Why don’t you look the word on in the dictionary?
C. Why don’t you look the word over in the dictionary?
D. Why don’t you look the word in the dictionary?
47. Somebody should tell him.

A. Somebody is said to told him. 
B. He needs to be told by someone.
C. It is necessary to tell him. 
D. It is said to tell him.

48. The concert was horrible.

A. It was too horrible to see the concert. 
B. The concert was completely waste. 
C. The concert was a complete waste of time.
D. The concert was complete waste of time.
49. He couldn’t find me at the exhibition.

A. It isn’t easy for him to find me at the exhibition.
B. It wasn’t easy for him to find me at the exhibition.
C. He wasn’t easy to find me at the exhibition.
D. He wasn’t able to find me at the exhibition.

50. She let her son go to New York for the weekend.  

A. She allowed her son to go to new york.
B. Her son is allowed to go to new york. 
C. Her son is let to go to new york.
D. Her son is permitted to go to new york.
51. I haven’t seen her for 15 years.

A. It is 15 years  when i haven’t seen her. 
B. 15 years is the time i haven’t seen her.
C. She hasn’t seen me for 15 years.
D. The last time i saw her was 15 years ago.
52. I didn’t understand what he was saying because I hadn’t read his book.

A. If i had read his book, i would have understood what he was saying.
B. If i read his book, i will understand what he is saying.
C. If i read his book before, i would understand him.
D. If only i read his book that i understood what he was saying.
53. As the class representative I would like to welcome you.

A. I’d like to welcome you on behalf of the class.
B. I’d like to welcome you because i am the monitor.
C. I would like the representative of the class to welcome you.
D. I would like you welcome me because I am the representative.

54. They believe the students were educated in Canada.

A. The students are believed to have been educated in canada.
B. The students were believed to be educated in canada.
C. In canada, the students were educated.
D. The students could be educated in Canada.

55. He escaped using a disguise.

A. He escaped by means of a disguise.
B. He tried to escape by means of a disguise.
C. He used a disguise to escape from the prison.
D. He used a disguise as a means to escape from her.
56. Remind me to call Jack.

A. Don’t let me forget to call jack.
B. Don’t call jack.
C. Remember to call jack.
D. Tell me to call Jack when I come back.

57. This pasta is a new experience for me.

A. It is the first time i have tried this pasta.
B. This pasta is not easy to eat.
C. It is the time to eat pasta because it is very delicious.
D. Pasta is a new food that I would like to try.

58. She has probably found a new job.

A. It is likely that she has found a new job.
B. She could have found a new job.
C. She should find a new job.
D. She has probably had the job.
59. I don’t agree with prohibiting smoking in bars.

A. I’m not in favor of prohibiting smoking in bars.
B. I do not think smoking in bars is a good idea.
C. I believe that smoking in bars is not good.
D. People who go into bars should not smoke.

60. It doesn’t need to be finished this afternoon.

A. It isn’t necessary to finish this afternoon.
B. It is necessary to finish everything this afternoon.
C. You don’t need to finish this job this afternoon.
D. You mustn’t finish this job this afternoon.
61. Pittsburgh is less exciting than New York.

A. Pittsburgh isn’t as exciting as new york. 
B. Pittsburgh is as exciting as new york.
C. New york is as exciting as pittsburgh.
D. Pittsburgh is more exciting as new york.
62. He couldn’t reach the cup because it was too high.

A. The cup wasn’t low enough for him to reach.
B. The cup is high so he doesn’t want to reach it.
C. He isn’t tall enough to reach the cup.
D. He should be taller to reach the cup which is high.

63. She didn’t accept his marriage proposal.

A. She turned his marriage proposal down.
B. She returned the marriage proposal to him.
C. She doesn’t want to marry him.
D. She accepted to get divorced to him.

64. We were told to wait here by the director.

A. It was the director who told us to wait here.
B. The director asked us to wait for him here.
C. We waited here to meet the director.
D. The director told us to wait for him here.

65. Can you look after the kids this afternoon?

a. Can you take care of the kids this afternoon?

b. Can you look for the kids this afternoon?

c. Can you take the kids to schools this afternoon?

d. Can you help me take the kids home?

66. “Why don’t you take a day off?” asked Jim.

A. Jim suggested I should take a day off.
B. Jim asked why didn’t I take a day off.
C. Jim thinks I should take a day off.
D. Jim advises me to take a day off.

67. He acts like a poor man even if he has a lot of money.

A. Even though he acts like a poor man, he in fact has a lot of money.
B. Even if he is rich, he likes to live like a poor man.
C. If he has a lot of money, he will not act like a poor man.
D. He likes to live like a poor man though he is very rich.
68. I didn’t mean to break that vase.

A. I didn’t break that vase on purpose.
B. I would not break that vase if i held it carefully.
C. I didn’t want to break that vase.
D. I do not think I am the one who broke that vase.

69. Jack says Jenny is responsible.

A. It’s jenny’s responsibility according to jack.
B. Jack is a responsible man.
C. Jenny is more responsible than jack.
D. Jenny is as responsible as Jack.

70. I was so bored by his lecture so I left.

A. His lecture was so boring that i left.
B. He gave a boring lecture.
C. I left before he finished his boring lecture.
D. I left because the lecture was more boring that i thought. 
71. I think the owner of the house is abroad.

A. I don’t think the owner is staying inside the house.

B. I believe that the owner of the house is not at home.

C. The owner of the house is thought to be abroad.

D.  The owner of the house is going on holiday abroad. 

72. The judges had never seen any prettier flower display.

A. It was the prettiest flower display which the judges had ever seen.
B. It  was the display which the judges liked best.
C. The judges have seen a lot of flower displays recently.
D. It was the first time the judges have seen such a pretty display.

73. He said, “I wish I knew the answer.”

A. He said he wishes he knew the answer.

B. He said that he wished he knew the answer.

C. He wishes to know the answer to that question.

D. He thinks I did not know the answer of that question.

74. The only thing that prevented the passing of the bill was the death of the Prime Minister.

A. The death of the Prime Minister prevented the bill from passing.

B. The death of the Prime Minister was a great loss to the country.

C. Had it not been for the death of the Prime Minister, the bill wouldn’t have seen passed.

D. If they had known about the death of the Prime Minister, they wouldn’t have passed the bill.

75. We didn’t go on holiday because we didn’t have enough money.

A. We will go on holiday if we have money.

B. We would go on holiday if we had enough money.

C. If we earned some more money, we could afford for the holiday this year.

D. If we had had enough money, we would have gone on holiday. 

76. Joan eats very little so as not to put on weight.

A. Joan doesn’t eat much because of he is overweight.

B. Joan eats very little because she doesn’t want to put on weight.

C. Joan wants to gain weight so she eats as little as she can.

D. Joan will put on weight if she eats these kinds of food.

77. The refugees continued to feel unsafe until they had crossed the border.

A. Not until the refugees had crossed the border did they feel safe.

B. Not until the refugees had crossed the border that they feel safe.

C. The refugees were feeling safe because they are crossing the border.

D. The refugees wanted to cross the border not to feel unsafe.

78. It is quite pointless to complain.

A. To complain is pointless.

B. It is not the right time to complain.

C. The point is that you should not complain.

D. There’s no point in complaining.

79. The children couldn’t go swimming because the sea was very rough.

A. The children should not go swimming in the rough sea.

B. The sea was too rough for the children to go swimming.

C. The sea was rough enough for the children to go swimming.

D. The sea wasn’t rough so the children could go swimming.

80. On arrival at the shop, the goods are inspected carefully.

A. The shop assistant inspected the goods carefully.

B. The shop assistant arrived at the shop to inspect the goods carefully.

C. When the goods arrive in the shop, they are inspected carefully.

D. When the goods arrive in the shop, the police inspected the goods carefully.

81. Phillip’s inability to make decision dates from his accident.

A. Phillip is not able to make decision any more.

B. Ever since his accident Phillip has been unable to make decisions.  

C. Since the accident, Phillip did not make any more decisions.

D. Since the accident happened to him, Phillip didn’t make decisions for his life.

82. It’s almost nine months since I stopped subscribing to that magazine.

A. I haven’t read that magazine for nine months.

B. I stopped reading that magazine so I stopped subscribing the magazine.

C. My subscription to that magazine has been cancelled because of my late paying. 

D. I cancelled my subscription to that magazine nine months ago.
83. Carol finds it easy to make friends.

A. Carol has no problem in making friends.

B. Making friends is easy to her.

C. Carol is fond of making friends.

D. Carol really likes to make friends.

84. Mrs. Wilson says she’s sorry she didn’t attend the meeting yesterday morning.

A. Mrs. Wilson sends her apologies for not having attended the meeting yesterday morning.

B. Mrs. Wilson thinks the meeting yesterday morning was not interesting.

C. It is impossible for Mrs. Wilson to attend the meeting.

D. Mrs. Wilson refused to attend the meeting.

85. I really like her voice but not her choice of songs.

A. Her choice of song is not in my favor.

B. I am interested in her beautiful voice.

C. Much as I like her voice I don’t like her choice of songs.

D. I don’t like her choice of songs even though she has a good voice.

86. We were very impressed by the new cinema but found it rather expensive.

A. The cinema ticket is too expensive for us.

B. Impressed as we were by the new cinema we found it rather expensive.

C. Going to see film in this cinema is impossible because the ticket is very expensive.

D. The new cinema makes me such a good impression on me.

87. Mark is too young to see the horror film.

A. Mark is not allowed to see horror film.

B. Children are not allowed to see horror film.

C. Mark should see horror film because of its bad effect.

D. Mark is not old enough to see the horror film.
88. It’s Alice’s job to look after the new staff.

A. The new staff will be looked after carefully.

B. Alice is responsible for looking after the new staff.

C. The new staff is going to be looked after by Alice. 

D. Alice’s new job is to look after the staff.

89. He delayed writing the book until he had done a lot of research.

A. He has to do a lot of research before writing that book.

B. After doing a lot of research, he continued to write a new book.

C. Only when he had done a lot of research did he begin to write the book.

D. He could not finish writing the book because he didn’t do any research. 

90. The doctor advised him against taking a holiday in a tropical country.

A. The doctor advised him to take a holiday in a tropical country again.

B. The doctor advised him not to go on holiday in tropical countries.

C. The doctor’s advice to him was against his taking a holiday in a tropical country.
D. The doctor’s advice to him is taking the holiday again.

91. I write to him almost every day.

A. Hardly a day passes without my writing to him.

B. I write to him very often.

C. I usually write to him when I have free time.

D. I have to write to him so often that I need not go to see him every day.

92. We couldn’t have managed without my father’s money.

A. My father gave us a lot of money.

B. We inherit from my father a lot of money.

C. If my father does not give us money, we will not be able to manage everything.

D. If it hadn’t been for my father’s money, we couldn’t have managed.
93. After fighting the fire for twelve hours the firemen succeeded in putting it out.

A. The firemen could finally put off the fire after fighting.

B. The firemen managed to put the fire out after fighting it for twelve hours.

C. After fighting the fire for twelve hours, the fire was put off.

D. After twelve hours fighting against the fire, the firemen were extremely tired.

94. Michael laughed when I told him the joke.

A. Michael heard the joke for the first time.

B. Michael thought the joke was interesting.

C. The joke that I told Michael made him laugh.

D. The joke makes Michael feel happy.

95. Mary told the police about the burglary.

A. The police was told about the burglary.

B. Mary reported the burglary to the police.

C. Mary was arrested to the police station for the burglary.

D. The police reported to Mary about the burglary.

96. I had only just put the phone down when the boss rang back.

A. I wish the boss didn’t call me back.

B. The boss rang back because he needed me to help.

C. It is when the boss rang back that I just put the phone down.

D. Hardly had I put the phone down than the boss rang back.
97. The architect has drawn plans for an extension to the house.

A. Plans have been drawn up for an extension to the house.

B. Plans have been made by the architect.

C. An extension for the house should be made into plans.

D. The house should have an extension as the plans suggested by the architect.

98. Jenny does not play tennis as well as she used to.

A. Jenny plays the tennis very well.

B. Jenny used to play tennis better than now.

C. Jenny should practice tennis more often.

D. Jenny used to win the champion tennis player.

99. I never intended to go to the meeting.

A. I did not want to go to that meeting.

B. I did not think going to that meeting was a good idea.

C. I never had any intention of going to the meeting.

D. I never thought of the idea of attending meetings.

100. It was Sir Walter Raleigh who introduces potatoes and tobacco into England.

A. Potatoes and tobacco were planted in England.

B. Sir Walter Raleigh was the first man who saw potatoes and tobacco.

C. A lot of English people loved Sir Walter Raleigh very much for his introduction to potatoes and tobacco.

D. The English owe the introduction of potatoes and tobacco to Sir Walter Raleigh.
101. In Stratford-on-Avon we saw Shakespeare’s birthplace.

A. Shakespeare was born in Stratford-on-Avon.

B. Shakespeare used to live in Stratford-on-Avon.
C. We saw the house in Stratford-on-Avon where Shakespeare was born.
D.  We believed that Shakespeare lived in a house in Stratford-on-Avon.

102. The door was so heavy that the child couldn’t push it open.

A. The door was too heavy for the child to push open.

B. The child asked his parents to help him open the door.

C. The door was too heavy to open.

D. The child is so small that he could not push open the heavy door.

103. “Let’s go for a walk in the park,” said Andrew.

A. Andrew suggested going for a walk in the park.

B. Andrew said let's go for a walk in the park.

C. Andrew said we should you for a walk in the park.

D. Andrew says we shall we go for a walk in this park.

104. “If my members agree to that I’ll be very surprised,” said the union delegate.

A. The union delegate said if the members agree to that he will be very surprised.

B. The union delegate observed that he would be very surprised if his members agreed.

C. The union delegate says is his members agreed to that, he will be very surprised. 

D. The union delegate thought that he would be very surprised if his members agreed to that idea.

105. It isn’t necessary for you to finish by Saturday.

A. You mustn't finish by Saturday.

B. You can finish this job before Saturday.

C. You don’t need to finish by Saturday.

D. It is not advisable to finish this by Saturday.

106. If you don’t want Sally to be angry with you, I suggest you apologize.

A. I think Sally wants you to apologize her.

B. If I were you, I would not make Sally so angry.

C. I suggest that you must go to see Sally because she is very angry now.

D. You’d better apologize to Sally.
107. His second attempt on the world record was successful.

A. He tried to break the world record for the second time.

B. He did not succeed in breaking the second world record.

C. He broke the world record at his second attempt.

D. The world record was successful because of his second attempt.

108. While I strongly disapprove of your behaviour, I will help you this time.

A. Despite my strong disapproval of your behaviour, I will help you this time.

B. I will help you even though I don't agree with you.

C. I strongly disapprove of your behaviour and that's why I will not help you anymore.

D. Your behaviour is what I don't approve of.

109. “How many survivors are there?” asked the journalist.

A. The journalist asks how many survivors are there.

B. The journalist asked how many survivors were there.

C. The journalist asked how many people there were.

D. The journalist wanted to know how many survivors there were.
110. You might fall if you’re not careful.

A. If you are not careful, you will fall.

B. You should be careful because the road is wet.

C. Be careful or you will fall.
D. Be careful because you will fall.

111. Helen can play the piano better than Elizabeth.

A. Helen can play the piano very well.

B. Elizabeth can’t play the piano as well as Helen.

C. Elizabeth can play the piano as well as Helen.

D. Both Elizabeth and Helen can play the piano.

112. I’m sorry I missed Professor Baker’s lecture.

A. I’m sorry not to have heard Professor Baker’s lecture.

B. I could not hear the lecture of Professor Baker because I missed the train.

C. I missed Professor Baker's lecture because I was late.

D. The lecture given by Professor Baker was not very interesting.

113. It was such rotten meat that it had to be thrown away.

A. I threw the meat because I could not eat it.

B. The rotten meat should be thrown away.

C. The meat was such rotten that I threw it away.

D. The meat was so rotten that it had to be thrown away.
114. Mrs. Edwards is the owner of that car.

A. Mrs. Edwards has a car.

B. That car belongs to Mrs. Edwards.

C. Mrs. Edwards bought that car many years ago.

D. Mrs. Edwards spent a lot of money to be the owner of that car.

115. I’m sure he didn’t know that his brother was seriously ill.

A. He couldn’t possibly have known that his brother was seriously ill.

B. The true that his brother was seriously ill was not known by him.

C. He did not know anything about his brother.

D. His brother has been seriously ill for a long time.

116. We may not be able to give the concert.

A. We want to stop the concert.

B. The concert can be stop at any time.

C. The concert may have to be cancelled.

D. The concert may have to be cancelled due to bad weather.

117. It is essential that Professor Van Helsing is met at the airport.

A. I met Professor Van Helsing at the airport.

B. Someone should go to the airport to pick Professor Van Helsing up.

C. Professor Van Helsing must be met at the airport.
D. Professor Van Helsing is a very important person.

118. The station clock showed half-past ten.

A. It is haft past ten now.

B. I came to the station at half past ten.

C. The train left the station at half past ten.

D. According to the station clock it was half past ten.
119. What particularly impressed me was her excellent command of English.

A. Her well spoken English impressed me much.

B. I was particularly impressed by her excellent command of English.

C. I am very surprised that her command of English was so excellent.

D. Her excellent command of English made me feel embarrassed.

120. I was not surprised to hear that Harry had failed his driving test.

A. It came as no surprise to me that Harry had failed his driving test.

B. Harry has passed his driving test three times.

C. I am very surprised that Harry failed his driving test again.

D. I am very sorry to know that Harry failed the driving test

121. You can’t visit the United States unless you get a visa.

A. If you want to travel, you have to get a visa.

B. Visiting the United States costs you a lot of money.

C. If you don’t get a visa, you can’t visit the United States.

D. It is not easy to get a visa to visit the United States.

122. Henry found a wallet with no name in it.

A. Henry was very surprised to see the wallet with no name.

B. The wallet that Henry found had no name in.

C. The wallet that Henry found had a lot of money inside.

D. Henry was lucky to find a wallet with no name in it.

123. She didn’t say a word as she left  the room.

A. She whispered something before she left the room.

B. She left the room repeating that word.

C. She said goodbye to people in the room and left.

D. She left the room without saying a word.
124. I only recognized him when he came into the light.

A. The light helped me see him clearly.

B. Not until he came into the light did I recognize him.

C. I recognize him right after I saw him.

D. The light is not good enough for me to recognize it was him.

125. “Can I borrow your typewriter, Janet?” asked Peter.

A. Peter asked Janet can he borrow her typewriter.

B. Janet asked Peter to borrow the typewriter.

C. Peter asked if he could borrow Janet’s typewriter.

D. Peter asks if he can borrow Janet's typewrter.

126. Ronald denied stealing Mrs. Clark’s handbag.

A. Mrs. Clark's handbag has lost since the time when Ronald came.

B. It was Ronald who stole Mrs. Clark's handbag.

C. Ronald said that he had not stolen Mrs. Clark’s handbag.

D. Ronald admitted to steal the handbag of Mrs. Clark.

127. The result of the match was never in doubt.

A. People doubted about the result of the match.

B. Not many fans went to the stadium to see the match.

C. The result of the match disappointed the fans. 

D. At no time was the result of the match in doubt.
128. She started working as a secretary five years ago.

A. She used to be a secretary.

B. Five years is a long time to be a secretary.

C. She should find another job after five years working as a secretary.

D. She has worked as a secretary for five years.
130. Susan likes staying in hotels but she prefers camping.

A. Susan doesn't likes camping more that staying in hotels.

B. Susan doesn’t like staying in hotels as much as camping.

C. Susan likes staying in hotels as much as she likes camping.

D. Staying in hotels is more boring that going camping.

131. This will be the orchestra’s first performance outside London.

A. This will be the first time the orchestra has played outside London.

B. The first performance of the orchestra makes a great impression.

C. Playing outside London brings the first performance of the orchestra great success.

D. After the first performance, the orchestra s going to organize another one outside London.

132. One runner was too exhausted to complete the last lap of the race.

A. The runner who was too exhausted to complete the last lap of the race did not win the championship.

B. One runner was so exhausted that he couldn’t complete the last lap of the race.

C. The runner was in such a exhausted condition after the race.

D. The runner tried a lot to finish the last lap of the race but he couldn't.

133. She knows a lot more about it than I do.

A. I know nothing about it.

B. She knows much more that I do

C. I don’t know as much about it as she does.

D. She is such an intelligent girl that she knows much more about it than I do.

134. The fridge was so heavy that we couldn’t move it.

A. The fridge was heavy enough for them to move.

B.  The fridge was heavy so they moved it.

C. They did not move the fridge because it was heavy.

D. The fridge was too heavy for us to move.
135. I applied for the job but was turned down.

A. I did not want to apply for that job any more.

B. My application for the job was unsuccessful.

C. My application for the job was turned down.

D. They returned my job application form because there were some mistakes.

136. My mother was the most warm-hearted person I’ve ever known.

A. I know that my mother was a warm-hearted person.

B. I’ve never known a more warm-hearted person than my mother.

C. The most warm-hearted person I’ve known recently was my mother.

D. I think my mother was the most warm-hearted person in the world.

137. My French friend finds driving on the left difficult.

A. My French friend isn’t used to driving on the left.

B. Driving on the left is difficult.

C. The French people do not drive on the left. 

D. Driving on the left is not easy for the French people.

138. “John, please don’t tell anyone new address,” said Mary.

A. Mary says to John not to tell anyone the new address.

B. Mary said that John shouldn’t tell about her new address to anyone.

C. Mary asked John not to tell anyone her new address.

D. Mary asks John not to tell her new address to anyone.

139. The Prime Minister was determined to remain in office.

A. The Prime Minister was a determined man.

B. The Prime Mister was an ambitious man who would not leave his office.

C. They determine the Prime Minister to remain in office.

D. The Prime Minister had no intention of giving up office. 
140. They never made us do anything we didn’t want to do. 

A. We were never made to do anything we didn’t want to.

B. We could do whatever we want without their permission.

C. We don’t have to follow up their ideas.

D. We never had to ask them for permission before doing something.

141. I don’t know the first thing about aeronautics.

A. Aeronautics is the first thing I know.

B. The first thing I should know is aeronautics.

C. I’m totally ignorant about aeronautics.

D. I am eager to know the first thing about aeronautics.

142. The workers only called off the strike after a new pay offer.

A. The workers received a new pay offer after their strike.

B. Only after a new pay offer did the workers call off the strike.

C. Only when the boss gave the workers some money that they continued to work.

D. A new pay is offered after the strike happened.

143. What a pity you failed your driving test!

A. I am very sorry to know that you failed your driving test again.

B. Don’t be sad when you fail the driving test.

C. That you failed your driving test is a pity.

D. I wish you had passed your driving test.
144. Laurence hasn’t seen his sister since she left for Japan.

A. Laurence last saw his sister when she left for Japan. 

B. Laurence’s sister has moved to Japan to live.

C. Laurence wishes to see her sister again because she didn’t meet her sister for a long time.

D. Since Laurence left for Japan, she didn’t come to see her sister.

145. The students’ riotous behaviour should have been severely punished.

A. They punished the students severely.

B. They punished the students severely for the riotous behaviour.

C. The students deserved to be severely punished for their riotous behaviour.

D. The riotous behaviour of the students must be punished.

146. He was sentenced to six months in prison for his part in the robbery.

A. The robbery happened six months ago.

B. After six months in prison, he went out and took part in another robbery.

C. He received a six-month sentence for his part in the robbery.

D. He deserved to receive six months in prison for his robbery behaviour.

147. The mechanic serviced my car last week.

A. I had my car serviced last week.

B. Last week I sent my car to the garage.

C. The mechanic repaired my car for free.

D. My car was badly damaged due to the accident last week.

148. Peter said he wasn’t feeling well.

A.  Peter says, “I don’t feel well”.

B. “I don’t feel well,” says Peter.

C. “I’m not feeling well,” says Peter.

D. Peter said, “I’m not feeling well.”
149. There are more people out of work in this country than ever before.

A. A lot of people are now unemployed.

B. Never have there been more people out of work in this country.

C. More and more people in this country are out of work.

D. There weren’t many people out of work in this country.

150. You can eat as much as you like at the new lunch-bar.

A. There is no limit on how much you can eat at the new lunch-bar.

B. The new lunch bar gives you a lot of free food.

C. You can eat whatever you like at the new lunch bar.

D. There is plenty of food at the new lunch bar for you to eat.

151. I’m always nervous when I travel by air.

A. Travelling by air is dangerous.

B. It is cheaper to travel by train than by airplane.

C. Travelling by air is comfortable but dangerous.

D. Traveling by air always makes me nervous.
152. John is fat because he eats so many chips.

A. Eating so many chips makes John get fat.

B. If John didn’t eat so much chips, he would not be so fat.   

C. Potatoes chips are John’s favourite food.

D. 
153. He had never stayed in such a dreadful hotel before.

A. Never before he stayed in such a dreadful hotel.

B. Never before had he stayed in such a dreadful hotel.
C. Never before had he stayed in such a dreadful hotel before.

D. Never before he had stayed in such a dreadful hotel.

154. It was stupid of you to lie to the police.

A. You shouldn’t have lied to the police.

B. You mustn’t lie to the police.

C. You ought not have lied to the police.

D. You couldn’t have lied to the police.

155. I wish I came with you.

A. I regretted not coming with you.

B. I regret not come with you.

C. I regret not to come with you.

D. I regret not coming with you.

156. She paid no attention to his warning.

A. She doesn’t care his warning.

B. She doesn’t take any notice of his warning.

C. She took no notice of his warning.

D. She takes notes his warning.

157. Just after solving one problem, I was faced with another.

A. Hardly had I solved one problem than I was faced with another.

B. Hardly I had solved one problem than I was faced with another.

C. Hardly I solved one problem than I was faced with another.

D. I hardly solve one problem than I was faced with another.

158.Robert and Catherine have been married for four years.

A. Robert and Catherine were married for four years.

B. Robert and Catherine have been married four years ago.

C. It’s four years since Robert and Catherine were married.

D. It’s four years since Robert and Catherine are married.

159.I don’t want you to tell him what I told you.

A. I’d rather you didn’t tell him what I told you.
B. You didn’t tell him what I told you I’d rather you.

C. I’d rather you not tell him what I told you.

D. I’d rather you wouldn’t tell him what I told you.

160.The rate of inflation has decreased considerably in the past week.

A. There was a considerable decrease in the rate of inflation in the past week.

B. There was a considerably decrease in the rate of inflation in the past week.

C. There has been a considerable decrease in the rate of inflation in the past week.

D. In the past week there was a considerable decrease in the rate of inflation.

162.People don’t talk so loudly while I’m studying.

A. I’d rather you don’t talk so loudly while I’m studying.

B. I’d rather you didn’t talk so loudly while I’m studying.

C. I wanted you don’t talk so loudly while I’m studying.

D. I’d rather you not talk so loudly while I’m studying.

162.May I borrow your car tonight, dad?

A. Would you mind borrowing me your car tonight, Dad?

B. Would you mind to lend me your car tonight, Dad?

C. Would you mind borrow me your car tonight, Dad?

D. Would you mind lending me your car tonight, Dad?

163.If you have finished your homework by midnight you can go to the party.

A. Get your homework done by midnight and you can go to the party.
B. Get your homework to do by midnight and you can go to the party.

C. Had your homework done by midnight and you can go to the party.

D. Have your homework to be done by midnight and you can go to the party.

164.He never has any successful results, even though he tries hard.

A. However he tries, he never has any successful results.

B. However hard he tries, he has any successful results.

C. However hard he tries, he never has any successful results.

D. What hard he tries, he never has any successful results.

165.He was unable to paint the gate of his house because of the heavy rain.

A. The heavy rain made it impossible for him to paint the gate of his house.

B. The heavy rain made it possible for him to paint the gate of his house.

C. The heavy rain made him to paint the gate of his house.

D. The heavy rain made paint the gate of his house.

166.It may rain, so let’s stay home and watch TV.

A. If it rains, let’s go to the cinema.

B. Should it rains, let’s stay home and watch TV.

C. It should rain, let’s stay home and watch TV.

D. Should it rain, let’s stay home and watch TV.

167.The game was called off because of heavy rain.

A. Such heavily it rains that the game were called off.

B. So heavily did it rain that the game was called off.

C. Such heavily did it rain that the game were called off.

D. So heavy did it rain that the game were called off.

168.Though he is old, he still leads an active life.

A. In spite of his age he still leads an active life.

B. Because of his old age he still leads an active life.

C. Although he isn’t old, he still leads an active life.

D. How age he is, he still leads an active life.

169.A man with an egg-shaped head sat at the desk.

A. At the desk a man sat with an egg-shaped head.

B. A man sat at the desk with an egg-shaped head.

C. At the desk sat a man with an egg-shaped head.
D. At the desk with an egg-shaped head sat a man.

170.The doctor asked: ‘Why didn’t you make an appointment’?

A. The doctor told her why she hadn’t made an appointment.
B. The doctor asked her why she hadn’t made an appointment.
C. The doctor said her why she hadn’t made an appointment.
D. The doctor suggested her why she hadn’t made an appointment.
171.Did he say why he hadn’t reached the island?

A. Did he give the reason why he not reach the island?

B. Did he give the reason if he didn’t reach the island?

C. Did he give the reason for he didn’t reach the island?

D. Did he give the reason why he didn’t reach the island?

172.Is smoking permitted in British cinemas?

A. Are we allowed to smoking in British cinemas? 

B. Are we allow to smoke in British cinemas? 

C. Are we allowed to smoke in British cinemas? 

D. Are we allowed smoking in British cinemas? 

173.With introduction of the computer, the students’ performance has been greatly enhanced.

A. The introduction of the computer enhances students’ performance.

B. The introduction of the computer has greatly enhanced students’ performance.

C. Students’ performance has greatly enhanced the introduction of the computer.

D. The introduction of the computer enhanced students’ performance.

174.The manager said to himself: ‘Why didn’t I use a computer some years ago’?

A. The manager wondered why he hadn’t used a computer some years before.

B. The manager wondered why I hadn’t use a computer some years before.

C. The manager wondered why he hadn’t used a computer some years ago.

D. The manager asked him why he hadn’t used a computer some years before.

175.I don’t like fish, and she doesn’t like, either.

A. Neither I or she likes fish.

B. Either I or she likes fish.

C. Neither I nor she like fish.

D. Neither I nor she likes fish.
176.‘Shall we eat out tonight’? said the man.

A. They should eat out tonight.

B. The man suggested that eating out tonight.

C. The man suggested that they (should) eat out tonight.
D. The man suggested that to eat out tonight.

177.But for his father’s support, he couldn’t be so successful. 

A. Though his father’s supports, he is very/so successful.

B. In spite of his father’s supports, he is very/so successful.

C. His father’s support, he is very/so successful.

D. Thanks to his father support’s, he is very/so successful. 

178.Here is a book that I found the quotation in. 

A. Here is the book in which I found the quotation.
B. Here is the book that I found the quotation.

C. Here is the book where I found the quotation in.

D. Here is the book whom I found the quotation.

179.I don’t want to have lunch yet.

A. I’d rather have not lunch yet.

B. I’d rather not have lunch yet.
C. I’d rather not having lunch yet.

D. I’d rather not have lunch.

180.You might fall if you are not careful.

A. Will fall, if careful.

B. Won’t fall, if careless.

C. Be careful, or (else) you will fall.
D. Be careless, or (else) you will fall.
VII. LISTENING
I. Listen to the following mini-talk and answer the inference questions that follow. Check the letter of the correct answer.

a/ in a national park

b/ in a classroom

c/ at a sports convention

d/ at a public library

2.

a/ science



b/ geography

c/ finance



d/ art history

3. 

a/ to provide information

b/ to entertain

c/ to persuade


d/ to initiate a debate

4. 

a/ They saw their dreams become reality in 1859

b/ Many didn’t make it over the mountain.

c/ Some continued trekking west-ward to settle.

d/ Most did not find gold.

5. 

a/ The mountain has a very limited variety of natural features.

b/ Pike’s peak is famous because gold was prospected there.

c/ The peak was named after the man who discovered it.

d/ The mountain area was too isolated to attract settlers.

II. Listen to the following mini-talk and answer the inference questions that follow. Check the letter of the correct answer.

1.

a/ in a classroom

b/ in a computer store

c/ in a trade show

d/ in a theatre

2.

a/ to entertain

b/ to persuade

c/ to inform

d/ to describe

3.

a/ telephone operator
b/ salesperson

c/ entertainer

d/ film producer

4.

a/ annoyed


b/ unconcerned

c/ depressed

d/ enthusiastic

5.

a/ The communications revolution has already passed people by.

b/ Buying a cellular phone will put the buyer in an advantageous position.

c/ The cellular phone is the beginning of a line of innovations.

d/ It’s important to prepare for the future by buying a cellular phone.

III. Listen to the following mini-talks and answer questions. Check the letter of the correct answer.

1. Where would this announcement be heard?

a/ On a train


b/ At an airport

c/ In an airplane

d/ On a bus

2. Who is speaking?

a/ A pilot


b/ A tour guide

c/ A weather forecaster.
d/ A furniture salesperson.

3. Where is the tour?

a/ In a garden


b/ In a forest

c/ In a museum

d/ In a flower shop

4. What does the tour operator say about the orchids?

a/ The were all in bloom.
b/ They are very common

c/ They all smell good

d/ They are all colorful

5. Who is the message intended for?

a/ City garbage collectors.
b/ Community bus drivers

c/ Kids with school on Saturdays.
d/ Members of the community.
6. What was the clean-up drive like last year?

a/ They had free hot dogs and refreshments.

b/ Fifty people showed up.

c/ It wasn’t successful.

d/ There were no participants.

7. Who is the message directed to?

a/ A computer user.

b/ Telephone operators

c/ I-NET employees

d/ Mr. Happy Cat.

8. What should you do if your password is not accepted?

a/ Try again at a later time.

b/ Retype it within ten seconds.

c/ Request a new password.

d/ Subscribe to another service.

9. Where would this video most likely be played?

a/ In a geography class.

b/ At a live fashion show.

c/ In a clothing store


d/ In a court room.

10. What is the focus of the video?

a/ Fashions at work


b/ Travel destinations.

c/ Important occupations

d/ Career women’s lives.

IV. You will hear a man talking about an experience he had with some colleagues in a restaurant. Choose the best answer A, B, C, or D.

1. They went to a restaurant to eat because

a/ It was less expensive than the canteen.

b/ the food in the canteen had made them ill.

c/ it had been recommended to them.

d/ they wanted to have a good night out.

2. Things started to go wrong when

a/ everyone started talking about money.

b/ They realized they couldn’t afford to pay for the meal.

c/ some people didn’t think the food was good enough.

d/ everyone started arguing about the bill.

3. Why was Brian so upset about what Charles said?

a/ He knew Charles didn’t like him.

b/ He thought Charles was attacking his company.

c/ He know that the argument would continue.

d/ He didn’t want to lose a friend.

4. What did the speaker feel about Charles’ remark?

a/ It was fair in the circumstances.

b/ It was not of any interest to him.

c/ It was a stupid thing to say.

d/ It was what he had been thinking.

5. What effect did the argument have on the other people at the table?

a/ They wanted to pay Brian’s share of the Bill.

b/ They asked the waiter to sort out the problem.

c/ They tried to calm Brian down.

d/ They wanted to leave the restaurant.

V/ In this part, you will hear ten short conversations between two people. The question will be followed by four answers. Choose the best answer to each question.

1. Where is the conversation taking place?

a/ At an airport.

b/ In a luggage store.

c/ In a hotel lobby.

d/ In a park.

2. What is the woman’s problem?

a/ A headache.

b/ A backache.

c/ A toothache.

d/ A stomachache.

3. When were the contracts faxed?

a/ This morning.

b/ Yesterday morning.

c/ Next week.

d/ Just before her flight.

4. Who did the woman speak to?

a/ Mr. Cunningham.

b/ Mr. Hoolihan.

c/ Mr. Callahan.

d/ Mr. Flannigan.

5. What is the man calling about?

a/ A personal problem.

b/ His electric bill.

c/ A job.

d/ His old job.

6. When does the first class begin?

a/ On the 1st.

b/ On the 13th.

c/ On the 28th.

d/ On the 30th.

7. What are the man and woman talking about?

a/ A business report.

b/ A contract.

c/ An application form.

d/ A bank loan.

8. How did the woman hear about the snowstorm?

a/ On television.

b/ In the newspaper.

c/ From a friend.

d/ By e-mail.

9. What are the speakers going to celebrate?

a/ A birthday.

b/ A graduation.

c/ A promotion.

d/ A retirement.

10. What are the men’s wives upset about?

a/ Their husbands go out of town too often.

b/ Their husbands are working a lot of overtime.

c/ Their husbands have too much inventory.

d/ Their husbands don’t care about them. 

VI/ In this part, you will hear ten short conversations between two people. The question will be followed by four answers. Choose the best answer to each question.

1. Who sent the package?

a/ Mr. Cho.

b/ Mr. Cho’s boss.

c/ Mr. Cho’s secretary.

d/ The director.

2. Where are they?

a/ At home

b/ At a restaurant.

c/ At a bank.

d/ At the office.

3. Why did Mr. Roberts leave early?

a/ Because it was raining.

b/ Because he had a flight to New York.

c/ Because he was ready.

d/ Because it’s Thursday.

4. When will he have his appointment?

a/ Tomorrow.

b/ On the weekend.

c/ On Monday.

d/ On Tuesday.

5. What is the woman’s job?

a/ Travel agent.

b/ Librarian.

c/ Pilot.

d/ Hotel Clerk.

6. How many people will eat dinner?

a/ Two.

b/ Three.

c/ Eight.

d/ Nine.

7. What are they discussing?

a/ Buying new chairs.

b/ Washing the windows.

c/ Painting the room.

d/ Cleaning the rug.

8. How will the man pay?

a/ With cash.

b/ With a check.

c/ with a money order.

d/ with a credit card.

9. Why did Jim miss the meeting?

a/ He didn’t feel well.

b/ He had to type his report.

c/ The copy machine didn’t work.

d/ He left his watch at home.

10. Who is going to the meeting?

a/ Mrs. Perez and Mr. Jones.

b/ Mr. Kim and Mr. Jones.

c/ Mr. Jones only.

d/ Mr. Kim only.
KEY (LISTENING - C LEVEL)
I. 1b, 2b, 3d, 4d, 5c

II. 1c, 2b, 3b, 4d, 5a

III. 1c, 2a, 3a, 4d, 5d, 6c, 7a, 8a, 9c, 10a

IV. 1d, 2a, 3b, 4c, 5d

V. 1a, 2b, 3a, 4c, 5c, 6d, 7b, 8a, 9d, 10b

VI. 1c, 2b, 3b, 4d, 5a, 6b, 7c, 8d, 9b, 10c

TAPESCRIPT

I. 

Your homework tonight is to write about a famous natural location in America. Explain why it’s famous, describing its physical features and history. For example, on Pike’s Peak, you’d report that it’s the most famous mountain in the United States because it inspired the song “America the Beautiful.” Pike’s Peak rises almost 6,000 feet above the Rampart Range and has a variety of rock formations, caves, gorges, cliffs, and even a petrified forest. The peak was discovered in November, 1806, by Zebulon M. Pike and is historically associated with pioneers and gold rushes. Its isolated location made it an exciting landmark for westward-trekking settlers. Rumors of gold brought prospectors thronging across the prairies in 1859 with the slogan “Pike’s Peak or Bust.” Most of them were busted.

1. Where did this talk probably take place?

2. In what course was this lecture most likely given?

3. What was the purpose of this talk?

4. What did the speaker imply about the prospectors?

5. What can be inferred from the passage?

Ladies and gentlemen, thank you for stopping by our booth today. I know there are many other interesting exhibits, but I’d appreciate ten minutes to talk about the new age of global telecommunications. Soon millions of Americans will carry pocket-sized “personal communicators” combining capabilities of computers, faxes, calendars, notebooks, and telephone in one small, mobile gadget. At home, the wireless pc will plug into televisions and home computers. A revolution is upon us and you can be ready for the wave of the future by ordering one of our portable cellular phones now. With just a small down payment, you too can put yourself at the front of the line to profit from progress.

1. Where did this talk probably take place?

2. What is the main purpose of this talk?

3. What is the speaker’s probable occupation?

4. What is the speaker tone?

5. What is not implied by the speaker?

III. 

Questions 1 and 2 refer to the following announcement.

This is your captain. I hope you’re enjoying the flight. It’s a beautiful day out there. Off the left of the aircraft you can see Mt. Rushmore, and on the right, the approach to Deadwood, South Dakota. Our radar indicates  some turbulence ahead, so I’m going to ask you all to fasten your seatbelts and stay in your seats.

Questions 3 and 4 refer to the following announcement.

Welcome aboard our Tropical Garden Tour. I’m Kathy, your tram operator and tour guide. Please keep seated in the tram for the duration of the tour. I also ask that you please keep from leaning out the windows. Sometimes I’ll be taking us very close to some large tree branches, and I don’t want anyone getting hurt. Also, please refrain from picking any leaves or flowers. Our plants are for everyone to enjoy! So much for the precautions. Our first stop is coming up on your left. It’s our rare orchid collection. About half of these plants are in full bloom. Some give off a very pleasant scent and they are all colorful.

Questions 5 and 6 refer to the following message.

Next week is our community clean-up drive. Last year it was a dismal failure.. only fifty people showed up. This year we hope to do better – much better. I want to see all of you at this year’s event. To help convince you to participate, I remind you that making our neighborhood clean of trash and litter is for your benefit. Also, to help you convince members of your family to joy the drive, remind them that when we finish, there will be free hot dogs and refreshments as well as games for the kids. See you next Saturday. We’ll start at ten in the morning and finish at one in the afternoon.

Questions 7 and 8 refer to the following message.

This is a telephone confirmation from I-NET. Here is your computer sign-in information. Please take note of it:

Your Identification Name is SMITH2

Your Password is HappyCat

You should use your Identification Name and Password every time you want to access our service. If your password does not work on your first attempt, please try again later. Do not immediately retype your password. Sometimes access services are delayed.

Questions 9 and 10 refer to the following video announcement.

You are about to enter the world of workplace fashion. We are going to take a four-country video tour of workplace dress styles. Let’s start with South Korea. Here you see the latest attire for women who work in offices. Next is Britain and lawyers who dress for court appointments. Our next view is of architects on the job in Singapore. Finally, we have high school teachers in Canada.

IV. 

Well, looking back on it now, it all seems quite funny but at the time it wasn’t. it wasn’t funny at all. There were eight of us for dinner that night and we’d had such awful meals in the canteen, and the conference was so dull we decided to treat ourselves and go to a really good restaurant.

We all chose exciting-looking things from the menu. I remember I had a delicious dish of sea-food and exotic vegetables. We really were enjoying ourselves and everyone seemed to be getting on well together. I can’t recall exactly when things started to go wrong but I know suddenly everyone was talking about prices and how much things cost. I think we were all adding up how much the meal would come to in our heads when Charles made that unfortunate remark. “Well chaps” he said, “I think we should expect Brian’s firm to pay for this one. After all Bryant and Son are about to take us all over”. We all ignored him – at least I thought we all had. It was a silly remark not worth paying any attention to. However, Brian was obviously upset. He stood up and yelled at Charles- “No one is going to get away with that sort of remark”. He said it so angrily I knew it wouldn’t end there. I knew what was behind it, too. He was very sensitive about his company being taken advantage of, even thought it was large and successful. The restaurant fell silent and then Brian leaned over the table and caught Charles by the Jacket and pulled him towards himself. It was horrible and dreadfully embarrassing. Somehow or other we pulled them apart and suddenly everybody was opening handbags and wallets and putting down notes and coins on the table. We all wanted to get away from the scene as quickly possible. An anxious waiter appeared. And started collecting the money and smiling nervously. What a dreadful evening it was. 

V. 

1. 

Man: Aren’t we supposed to meet Ms. Nakamura at the gate?

Woman: No, at baggage claim.

Man: Oh! Well, we’d better go over there right now.

2. 

Man: Uh-oh. Are you OK? Is your back bothering you again?

Woman: Yes, it hurts a lot. This is the second time this month.

Man: You should make an appointment to see your doctor.

3. 

Woman A: And please don’t forget to fax those contracts to Singapore.

Woman B; It’s already done. I faxed them this morning.

Woman A: Great. Okay, I’m on my way to the airport now. See you next week.

4. 

Woman: I spoke to Mr. Callahan a few minutes ago. He said the negotiations are going very well.

Man: That’s good news. Did he say when he’d be back in town?

Woman: Yes, he’ll be back in the office on Thursday.

5.

Woman: Reliance Electric. Pam speaking. May I help you?

Man: Yes. My name’s James Atherton. I’m calling about the job as a mechanic. Is that position still available?

Woman: Yes, we’re still accepting applications. One moment, please, while I connect you to personnel.

Man A: I’d like to register for the advanced word processing class, please.

Man B: Fine, the first class begins on the thirtieth of this month. There’s another on the thirteenth of next month. Which one would you like?

Man A: Mmm … Let me check my calendar for the moment.

Man: I’m not sure I like this clause about when the work must be completed. I don’t recall discussing these specific dates.

Woman: Oh? Let me have a look at it … I think this is what we agree to.

Man: Really? Maybe we should talk to them before signing.

Woman: Isn’t Mr. Katz supposed to be in today?

Man: Yes, but he won’t be here until tomorrow. His flight got delayed because of snow.

Woman: Oh, yes, I heard about that awful storm on the news.

Man: Let’s have Mr. Kelly’s retirement party in the conference room.

Woman: I don’t think it’ll hold everyone even if we move out that huge table and all the chairs.

Man: Mmm … You may be right. OK, I’ll call a few restaurants.

Man A: My wife’s getting upset with me. She says she hardly sees me any more.

Man B: Yeah, my wife feels the same way. But we have to stay late to check all the inventory before the holiday season begins.

Man A: I know, I know. I just hope we get it all done soon.

VI. 

1. 
Woman: Here’s a package for Mr. Cho.

Man: Who is it from? His boss?

Woman: No, his secretary. It contains the documents he needs for his meeting with the director tomorrow.

2. 
Man: I don’t have any money on me. I must’ve left my wallet at home.

Woman: Don’t worry about it. I’ll pay for lunch.

Man: Are you sure? I ate such a big meal, but I’ll pay you back as soon as we get to the office.

3. 
Woman: Has Mr. Roberts left the office already?

Man: Yes. He had to catch a plane at 3:30.

Woman: Oh, that’s right. He’s flying to New York today.

4. 
Man: I’d like an appointment with Dr. Schmidt. Is she free tomorrow?

Woman: She’s out of town until the weekend. She’ll be back in the office on Moday.

Man: I’d like to make an appointment for Tuesday, please.

5.
Woman: World Ways Travel. May I help you?

Man: Yes, I’m traveling to Paris next week and I’d like to book a hotel.

Woman: Certainly. I can make airplane reservations for you, too, if you’d like.

6.

Man: I’d like to make dinner reservations for three people this evening.

Woman: Fine, I can give you a table for three at nine o’clock.

Man: Nine? That’s much too late. How about 8:30?

7.

Woman: White is the best color for these walls, don’t you think?

Man: White would look nice around the windows, but you need a better color on the walls.

Woman: You’re right. How about blues for the walls? Blue would match the color of the chairs and rug.

8.

Man: Can I pay with a check? I’m all out of cash.

Woman: I’m sorry, we don’t take personal checks, just money orders. But you could use a credit card if you’d like.

Man: A credit card? Great. I’ll do that

9.

Did Jim explain why he missed the meeting this afternoon?

Man: Yes. He has a report to turn in by six tonight and he’s still typing the final copy.

Woman: he always leaves everything ‘till the last minute, doesn’t he?

10.

Man: Is the budget director going to the meeting with Mr. Jones?

Woman: You mean Mrs. Perez? No, they won’t be discussing the budget.

Man: It’ll be a small meeting, then, because Mr. Kim isn’t going either.

Nguyệt Thanh 
Part A

1. (A) She doesn’t have an apartment.

 (B) Her problem is complicated.

 (C) She must live somewhere else.

 (D) Her apartment isn’t far away.

2.  


(A) She can use his phone if she wants

       (B) There’s no change for phone calls.

 (C) His phone is out of order too.

       (D) She can call him later if she likes.

3.   (A) She couldn’t find it.

(B)  It was  too hard to solve.

(C)  It was simpler than he thought.

(D)  He solved it even though it was hard.

4.   (A)  He cleaned up after cooking. 

      (B)   He forgot to put the pots and pans away.

      (C)   He was out in a terrible storm.

      (D)   He puts some plants in the kitchen.

5.   (A)   He studied forestry in school.

      (B)   He worked in a forest. 

      (C)   He read a lot of books about trees.

      (D)   His father taught him.

6.   (A)   How many pages he must write.

      (B)   What Professor Barclay discussed. 

      (C)    How long  the class lasted.

      (D)    When the paper is due.

7.   (A)    She doesn’t like any music except classical. 

      (B)    There is some classical music she doesn’t like.

      (C)     She likes classical music but she can’t play it.

      (D)     Classical music doesn’t interest her at all.

8.   (A)     He was too busy to take the test.

      (B)      He did well on the test.

      (C)     He left some questions unanswered.

      (D)     He took the test twice.

9.   (A) Breaking  the glass.    

      (B) Warming the lid.    

      (C)  Hitting the lid.

      (D) Filling the jar.

10. (A) It was too expensive.

      (B)  She bought it at the shop next door.

      (C)  It was given to her as a gift.

      (D)  She paid very little for it.

11. (A) She doesn’t wantr to discuss the traffic.

      (B)  She didn’t have to go downtown today.

      (C)  She was in the traffic herself.

      (D)  She thinks the trafuc was better today.

12. (A) The classes aren’t interesting.


(B) Classes have been canceled.


(C) The weather is pleasant.


(D) It isn’t very sunny today.

13. (A) Gary doesn’t need  a tape player.


(B) She wants her tape player back.


(C) She’s glad Gary is finallky here.


(D) Gary can keep her tape player.

14. (A) Stay inside and read it.

(B) Look in it for advertisements for umbrellas.

(C) Cover her head with it.

(D) Throw it away.

15. (A) She originally supported Margaret.

(B) She can no longer support Ed.

(C) Ed has dropped out of the race.

(D) She’s not interested in the election.

16. (A) She and her brother painted the apartment.
(B) Her brother owes her some money.

(C) Her brother painted the apartment by himnself.

(D) She painted her brother’s apartment.

17. (A) Give him a map.

(B) Cut his hair for him.

(C) Drive him to the lake.

(D) Show him another route.

18. (A) Hanging it.

(B) Buying it.

(C) Painting it.

(D) Framing it.

19. (A) Borrow Stephanie’s computer.

(B) Buy her own computer.

(C) Save some money.

(D) Stay home and complete her assignment.

20. (A) He doesn’t need to practise anymore.

(B) His team has won a lot of games.

(C) He doesn’t want to play volleyball.

(D) His team needs to improve.

21. (A) She seems to be feeling better.

(B) She has quite an imagination.

(C) She takes beautiful pictures.

(D) She’s too sick to go out.

22. (A) Lou has been here once before. 

(B) They’ll start when Lou arrives.

(C) Lou has already started.

(D) Everyone is getting hungry.

23. (A) She thinks they’re reasonably priced.

(B) She doesn’t like them at all.

(C) She’d buy them if she had enough money.

(D) She doesn’t need them, but she still likes them.

24. (A) To improve his game quickly.

(B) To take more lessons.

(C) To train with a professional.

(D) To teach people to play tennis.

25. (A) Wrap the present.

(B) Play a game.

(C) Point out a problem.

(D) End the discussion.

26. (A) She wants to buy some books.

(B) Two of the books are the same.

(C) He needs some matches.

(D) The couple is a good match.

27. (A) Neithẹr street goes downtown.

(B) California Street is better than Oak Street.

(C) There’s not enough time to go downtown.

(D) He can take either street.

28. (A) It was hard to hear.

(B) It wasn’t true.

(C) It was surprising.

(D) It wasn’t very interesting.

29. (A) The handle on the suitcase is broken.

(B) His hands are really full.

(C) The luggage is too heavy for him.

(D) He’ll be happy to help.

30. (A) She had to prepare for an exam.
(B) She’d passed the physics test.

(C) She was going camping.

(D) She’d dropped the physics class.

31. (A) The plane hasn’t taken off yet.

(B) The cost of flying has increased.

(C) More flights will soon be scheduled.

(D) He hasn’t changed his vacation plans.

32. (A) All of the books are cheap.

(B) None of the books is required.

(C) Half of the books should be returned.

(D) Only four of the books are expensive.

33. (A) It will probably rain tonight.

(B) She likes to watch the rain come down. 

(C) She’ll play even if it rains.

(D) It has rained a lot lately.

34. (A) Nearly all of the students can meet.

(B) The meeting time must be changed.

(C) Only Lisa will be at the library.

(D) Lisa dropped the class on Friday.

35. (A) He was the first person to get tickets.

(B) He has good seats for the concert.

(C) The performance has already been held.

(D) The group may perform somewhere else.

36. (A) He intends to see Michelle.

(B)  Michelle may visit him anytime.

(C) He has to return some money to Michelle.

(D) Michelle owes him some money.

37. (A) Buying some red chairs.

(B) Renting a bigger  auditorum.

(C) Moving chairs from the auditorum.

(D) Getting more chairs.

38. (A) He can’t read the sign.

(B) He didn’t make the sign.

(C) He didn’t sign his name.

(D) He doesn’t like the sign.

39. (A) Housing near campus is getting cheaper and cheaper.

(B) She doesn’t need to live cose to campus.

(C) It’s not easy to find inexpensive housing  near campus.

(D) The man  could find housing if he looked carefully.

40. (A) To a game.

(B) To buy tickets.

(C) To get some groceries.

(D) To a party. 

41. (A) The bucket has been broken.

(B) The water was spilled. 

(C) They still need more money.

(D) They have run out of time.

42. (A) He is kind.

(B) He is impolite.

(C) He is somewhat busy.

(D) She doesn’t want to say.

43. (A) It’s not surprising that Tony went fishing.

(B) He already knew Tony had caught only one fish.

(C) He doesn’t think Tony is a good fisherman.

(D) Tony usually catches a lot of fosh.

44. (A) Don’t complete the form.

(B) Don’t waste time.

(C) Take a form. 

(D) There’s no hurry.

45. (A) He is telling her the truth.

(B) He’s never been to Seatle.

(C) He has visited Seatle once.

(D) She’s only spoken to him once.

46. (A) Disapproved of her plan.

(B) Watered Lily’s plants.

(C) Traveled overseas.

(D) Caught colds.

47. (A) It should  have been turned up.

(B) The people across town enjoy it.

(C) It’s extremely popular.

(D) It was much too loud.

48. (A) It was quite relaxing.

(B) The weather wasn’t good.

(C) It was unexpected busy.

(D) It was perfectly planned.

49. (A) The lab is generally locked on Saturdays.

(B) The man doesn’t have a key to the lab.

(C) Something strange happened  in the lab on Saturday.

(D) The lab should never be locked.

50. (A) He needs the insurance no matter how much it costs.

(B) There are other types of insurance he should buy.

(C) The man doesn’t have enough money to  buy insurance.

(D) The cost of  insurance is becoming more reasonable.

51. (A) She’s an art student.

(B) She’s afraid of flying.

(C) She did well on the test.

(D) She got her pilot’s license.

52. (A) An elevator.

(B) A television.

(C) An automobile.

(D) A telephone.

53. (A) Meg’s sister took it to the cleaner’s.

(B) Meg cleaned it.

(C) Meg wore it to class.

(D) Meg’s sister borrowed it.

54. (A) She must go to an orientation session.

(B) They are not new students.

(C) They won’t be allowed to register.

(D) They were given the wrong schedule.

55. (A) He doesn’t mind moving.

(B) His brother won’t move for two weeks.

(C) He’d rather not help his brother move.

(D) His brother decided not to move.

56. (A) She has a coin like his.

(B) She knows a lot about coins.

(C) She thinks the coin is worthless.

(D) She’s never seen this type of coin.

57. (A) Its lyrics are hard to understand.

(B) It needs a stronger melody.

(C) It has become very popular.

(D) Its melody is hard to forget.

58. (A) He hadn’t been smiling.

(B) His picture hadn’t been taken.

(C) It wasn’t a good picture.

(D) The woman wouldn’t show him the picture.

59. (A) They’re always expensive.

(B) They haven’t been cleaned.

(C) They’re inexpensive now.

(D) There aren’t any available.

60. (A) From college.

(B) Through her roomate.

(C) From the reception.

(D) Through her sister.  

61. (A) She broke the window herself.

      (B)  She repaired the broken window.

      (C)  She was able to get the window open.

      (D)  She hurt herself on the broken glass.

62. (A) The golf tournament made it famous. 

      (B)  It’s grown a lot lately.

      (C)  It can’t be found without a map.

      (D)  Very few people there play golf.

63. (A) Where she got new information.
      (B)  How the copy was made.

      (C)  Who painted the picture.

      (D)  Why the copy was made.

64. (A) Groceries.

      (B)  A used car.

      (C)  Gasoline.

      (D)  Medicine.

65. (A) She read it again and again.

      (B)  She covered it up.

      (C)  She read every page of it.

      (D)  She ripped its cover off.

66. (A) He can no longer play.

      (B)  He’s played everyday for years.

      (C)  His playing has improved.

      (D)  He played quite well.

67. (A) He needs to get more camping equipment.

      (B)  He is an experienced camper.

      (C)  He is taking too much equipment.

      (D)  He shouldn’t go camping for such a long time.

68. (A) Try to get electric mayor.

      (B)  Attend a class.

      (C)  Interview the mayor.

      (D)  Apply for a job.

69. (A) She was mistaken about Professor Leguin.
      (B)  She just returned from San Francisco.

      (C)  She doesn’t know what the professor looks like.

      (D)  She’s an admirer of Professor Leguin.

70. (A) He’s speaking a language they don’t know.

      (B)  He doesn’t have a microphone.

      (C)  He’s speaking much too quickly.

      (D)  He’s using a defective microphone.

71. (A) It’s near the elevator.

      (B)  He doesn’t know where it is.

      (C)  It’s on another floor.

      (D)  The directory doesn’t list it.

72. (A) She’s only heard it a few times.

      (B)  She doesn’t get to listen to it very often.

      (C)  She once liked it, but she’s heard enough.

      (D) She enjoys it very much.

73. (A) It’s no wonder that she had to work.

      (B)  It wasn’t busy because of the weather.

      (C)  She was very busy at work.

      (D) The snow made her late for work. 

74. (A) He doesn’t have any money left either.
      (B) The club is looking for some new members.

      (C) He woman some money.

      (D) It doesn’t cost much to join the club. 

75. (A) He doesn’t enjoy receptions.

      (B) He uses his computer a lot.

      (C) His computer isn’t working.

      (D) He will definitely attend. 

76. (A) Only one person in the group is older than he.
      (B) His group is almost the oldest.

      (C) He’s the youngest person in the group.

      (D) He appears only in the second photograph. 

77. (A) Pancakes are not his favorite dish.

      (B) His pancakes don’t taste very good.

      (C) He never makes enough pancakes.

      (D) He can’t cook many dishes. 

78. (A) She thinks Professor Bryant is unfair.

      (B) She doesn’t know Professor Bryant.

      (C) She agrees with the man.

      (D) She doesn’t understand the man’s remark. 

79. (A) In a few days.

      (B) Before they eat.

      (C) During lunch.

      (D) When lunch is over. 

80. (A) The woman would enjoy the mountain scenery.

      (B) The weather has been hot this month.

      (C) The weather in mountain is unusual.

      (D) The woman probably doesn’t like cool weather. 

81. (A) It has exceptionally good service.

      (B) It has excellent food.

      (C) The service there is disappointing.

      (D) Everything there is great. 

82. (A) If his name sounds familiar.

      (B) If she’s spoken to him on the phone.

      (C) If he’s a musician.

      (D) If she likes his name. 

83. (A) He thought other science courses would be harder.

      (B) It’s a required class for all students.

      (C) He’s studied geology before.

      (D) It was the only science course open to him.

84. (A) He’s never have been to the zoo.

      (B) He’s seen only one bear.

      (C) He’s never have seen a bear in the wild.

      (D) There weren’t any bears at that zoo.

85. (A) When she will answer the questions.

      (B) Where he drove.

      (C) What kind of car she has.

      (D)  Why she asked so many questions. 

86. (A) He thinks it will be better than the old one.

      (B) He’s anxious for it to be completed.

      (C) He’s worried that it’s not long enough.

      (D) He feels that it shouldn’t have been built.

87. (A) Where he’s studying.

      (B) What subject he’s studying.

      (C)  How long he’s been in Europe.

      (D)  When’s he’s returning.

88. (A) Charlotte wouldn’t be attending graduate school.

      (B) Charlotte had gotten a scholarship.

      (C) Graduate school wouldn’t start until September.

      (D) Scholarships were easy to get. 

89. (A) He paid it today for the first time.

      (B) He pays it on the last day of the month.

      (C) He pays it after it’s due.  

      (D) He’s planning to pay it tomorrow. 

90. (A) The debate involved only a few issues.

      (B) Many people changed their plans.
      (C) A lot of people attended.

      (D) The debate lasted longer than expected.

Part B

1.   (A) They are both studying social anthropology.

      (B) Both of them are going to the museum on Saturday.

      (C) They both have the same teacher.

      (D) Both of them have studied anthropology before.

2.   (A) In the morning.

      (B) In he afternoon.

      (C) In the evening.

      (D) Only on Saturdays.

3.   (A) Relationships between parents and children.

      (B) The tools used by ancient people.

      (C) Leadership is contemporary society.

      (D) Marriage customs.

4.   (A) He found it uninteresting.
      (B) He found it useful.

      (C) He found it fascinating.

      (D) He found it difficult.

5.   (A) At a university.

      (B) At a television station. 

      (C) At a newspaper office.

      (D) At a hospital.

6.   (A) He needs a well-paying position.

      (B) He was told to by a professor.

      (C) He wants the experience.

      (D) He recently lost another job.

7.   (A) Drama.

      (B) Journalism.      

      (C) Telecommunications.

      (D) History.

8.   (A) Talk to Ms. Wagner.

      (B) Drop a class.

      (C) Change his major.

      (D) Complete a form.

9.   (A) At a newspaper.
      (B) At an advertising agency.

      (C) At a furniture store.

      (D) At a real estate office.

10. (A) A two-bedroom apartment.

      (B) A sofa.

      (C) A chair.

      (D) A roommate.

11. (A) Her phone number.

      (B) The location of the apartment.

      (C) The best time to call her.

      (D) Her first name. 

12. (A) $ 5

      (B) $ 15

      (C) $ 30

      (D) $ 250

13. (A) From a newspaper advertisement.

      (B) From a magazine article.

      (C) From a television program.

      (D) From an automobile dealer.

14. (A) To warn of danger.

      (B) To explain traffic regulation.

      (C) To wake up drivers who are falling asleep.

      (D) To give directions. 

15. (A) He has a good sense of direction.

      (B) He owns a ‘smart’ car.

      (C) He doesn’t know how to drive.

      (D) He doesn’t know the way to the woman’s house.

16. (A) He got lost.

      (B) He ran out of gas.

      (C) He was in an accident.

      (D) His car broke down. 

17. (A) Because it was cheap.

      (B) Because it is in such good condition.

      (C) Because it is a collector’s item.

      (D) Because he can resell it at a high price.

18. (A) In the 1930s.

      (B) In the 1940s.

      (C) In the 1950s.

      (D) In the 1960s.

19. (A) Replace its engine.

      (B) Enter it in some shows.

      (C) Take it on a long drive.

      (D) Resell it for more money. 

20. (A) At a conference hall.

      (B) At an art gallery.

      (C) At an airport.

      (D) At a hotel. 

22. (A) To attend a conference.

      (B) To see the planetarium.

      (C) To change planes.

      (D) To go sightseeing. 

23. (A) She recently went there.

      (B) It’s not a very good one.

      (C) There’s one in her home town.

      (D) It will be closed when she’s free. 

24. (A) On foot and by boat.

      (B) By car and on foot.

      (C) By air and by car.

      (D) By car and by bus.

Part C 

1.   (A) A football game.

      (B) Jet transportation.

      (C) The Von Hindenburg disaster.

      (D) Lighter than aircraft.

2.   (A) Early twentieth-century airships.

      (B) Blimps.

      (C) Jet aircraft.

      (D) Modern airships.

3.   (A) The age of zeppelins ended in disaster there.

      (B) It was there that the first blimp was designed.

      (C) Helium was first substituted for hydrogen there.

      (D) It was there that the last zeppelin was built.

4.   (A) They would be safer.

      (B) They would use less fuel.

      (C) They would be faster.

      (D) They could fly higher.

5.   (A) The Uniform Time Act.

      (B) The role of daylight savings time in wartime.

      (C) Ways to save energy.

      (D) The history of daylight savings time.

6.   (A) In the spring.

      (B) In the summer.

      (C) In the fall.

      (D) In the winter.

7.   (A) As confusing.

      (B) As innovative.

      (C) As amusing.

      (D) As wasteful.

8.   (A) To standardize daylight savings time.

      (B) To establish year-round daylight savings time.

      (C) To abolish daylight savings time.

      (D) To shorten daylight savings time. 

9.   (A) A program the city is starting.

      (B) The uses of recycled materials.

      (C) A proposed schedule.

      (D) A recent newspaper article.

10. (A) Newspaper.

      (B) Aluminum cans.

      (C) Plastic bottles.

      (D) Glass containers.

11. (A) The north.

      (B) The east.

      (C) The south.

      (D) The central. 

12. (A) Look in the local newspaper.
      (B) Keep listening to radio.

      (C) Stop by the recycling center.

      (D) Call the radio station.

13. (A) To present an award.
      (B) To say goodbye to Professor Callaghan.

      (C) To explain computer models.

      (D) To welcome a new college president.

14. (A) An administrator.

      (B) A faculty member.

      (C) A chancellor of the college.

      (D) A graduate student. 

15. (A) Computer science.

      (B) History.

      (C) Economics.

      (D) Physics. 

16. (A) Two

      (B) Four

      (C) Six

      (D) Eight

17. (A) A bicycle racer.

      (B) A radio announcer.

      (C) A coach.

      (D) A television reporter. 

18. (A) The benefits of bicycle commuting.

      (B) Local traffic problems.

      (C) A bicycle race.

      (D) The American university system.
 

19. (A) On the college campus.

      (B) On downtown streets.

      (C) In Woodland Park.

      (D) In the nearby countryside.

20. (A) Take part in the race.

      (B) Travel to the country.

      (C) Avoid the downtown area.

      (D) Ride a bicycle to work.

21. (A) In an art history class.
      (B) In a painter’s studio.

      (C) In a photography class.

      (D) In an art museum. 

22. (A) A famous person.

      (B) A beautiful landscape.

      (C) An empty phone booth.

      (D) Geometric shapes. 

23. (A) They are very valuable.

      (B) They are quite large.

      (C) They are highly abstract.

      (D) They are extremely lifelike. 

24. (A) Paint pictures.

      (B) Write papers.

      (C) View some slides.

      (D) Discuss their reactions. 

25. (A) Tourists.

      (B) Professional dancers.

      (C) Students.

      (D) Traditional musicians. 

26. (A) It will be different from the ones performed in Hawaii today.
      (B) It will involve women wearing grass skirts.

      (C) It will involve only male dancers.

      (D) It was once performed for great Hawaiian leaders. 

27. (A) They prohibited it.
      (B) They sponsored it.

      (C) They proposed some small changes in it.

      (D) They exported it to other islands. 

28. (A) Attend a live performance.

      (B) Go on a tour.

      (C) Perform a dance.

      (D) Watch a video. 

29. (A) To discuss a weather phenomenon.
      (B) To explain how to drive during storms.

      (C) To describe supercooled water.

      (D) To warn gardeners of the danger of hail. 

30. (A) Because of its size.

      (B) Because of its color.

      (C) Because of its layers.

      (D) Because of its weight.

31. (A) As a drop of supercooled water.

      (B) As a snowflake.

      (C) As a particle of dust.

      (D) As a ball of ice.

32. (A) In the spring.
      (B) In the summer.

      (C) In the fall.

      (D) In the winter. 

33. (A) New theories about the origin of language.

      (B) How to teach grammar to children.

      (C) Mistakes children sometimes make.

      (D) The stages of children’s language learning. 

34. (A) ‘Coo, coo.’
      (B) ‘Da-da.’

      (C) ‘More milk!’

      (D) ‘Na-na.’ 

35. (A) Between four and eight months.

      (B) Between one year and eighteen months.

      (C) Between two and three years.

      (D) Between three and four years. 

36. (A) They are the same in all languages.

      (B) They are often misinterpreted.

      (C) They are learned by imitation.

      (D) They are quite logical. 

37. (A) They are too complicated.

      (B) She doesn’t have time to talk about them today.

      (C) The class didn’t have a chance to read about them.

      (D) She doesn’t agree with them. 


[image: image1.emf]Part A     1.   (A) She doesn’t have an apartment.    (B) Her problem is complicated.     (C) She must live somewhere else.    (D) Her apartment isn’t far away.     2.           (A) She can use his phone if she wants            (B) There’s no change for phone calls.    (C) His phone is ou t of order too.            (D) She can call him later if she likes.     3.   (A) She couldn’t find it.   (B)  It was  too hard to solve.   (C)  It was simpler than he thought.   (D)  He solved it even though it was hard.     4.    (A)  He cleaned up after cooking.           ( B)   He forgot to put the pots and pans away.         (C)   He was out in a terrible storm.         (D)   He puts some plants in the kitchen.     5.   (A)   He studied forestry in school.         (B)   He worked in a forest.          (C)   He read a lot of books abou t trees.          (D)   His father taught him.   6.   (A)   How many pages he must write.         (B)   What Professor Barclay discussed.          (C)    How long  the class lasted.          (D)    When the paper is due.     7.   (A)    She doesn’t like any music except  classical.           (B)    There is some classical music she doesn’t like.         (C)     She likes classical music but she can’t play it.         (D)     Classical music doesn’t interest her at all.   8.     (A)     He was too busy to take the test.         (B)       He did well on the test.          (C)     He left some questions unanswered.         (D)     He took the test twice.            9.    (A) Breaking  the glass.              (B) Warming the lid.             (C)  Hitting the lid.  
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